UGC NET 2022 COMPARATIVE LITERATURE

Topic:- 072_UGCNET_SEPT22_S2_PartA

1)

Read the following passage and answer the questions that follow:

As regards the form, there are two indispensable conditions... certitude and clearness.... That logic has advanced in this sure
course, even from the earliest times, is apparent from the fact that, since Aristotle, it has been unable to advance a step
and, thus, to all appearance has reached its completion. For, if some of the moderns have thought to enlarge its domain by
introducing psychological discussions on the mental faculties, such as imagination and wit, metaphysical, discussions on the
origin of knowledge and the different kinds of certitude, according to the difference of the objects (idealism, scepticism,
and so on), or anthropological discussions on prejudices, their causes and remedies: this attempt, on the part of these
authors, only shows their ignorance of the peculiar nature of logical science. We do not enlarge but disfigure the sciences
when we lose sight of their respective limits and allow them to run into one another. Now logic is enclosed within limits
which admit of perfectly clear definition; it is a science which has for its object nothing but the exposition and proof of the
formal laws of all thought, whether it be a priori or empirical, whatever be its origin or its object, and whatever the
difficulties—natural or accidental— which it encounters in the human mind.

-- Immanuel Kant, The Critique of Pure Reason

forsotferRad srerior o ufeu 3iiz 37 ur smenfya gesil @ Iaz i :

S8 7 WU DI A 8, dal ol AURGRI GINT 3 --- forRI Ud YISIcrdl --- d8 dd YIeilel AR A 3ol ORI = UR Iooid 3l 831 8, Aus e A
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HATGIAIRTRI <TG IoId> PRUI 3R AHIEGT $ol ciD] bl RB A As PRI ad fd=irer &l fafdrse gapfer @ gfer 3orchl ddact sistrerar ol corfar 3
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In the passage, “the form” refers to:

srengr 3, " wrl" forl Jdita 3

[Question ID = 510][Question Description = 101_78_CLR_SEP22_S2_QO01]
1. logic

aw

[Option ID = 2037]
2. Aristotelian syllogism

SRICAIST SRATRIATTRI
[Option ID = 2038]



3. ‘completion’
‘Ao (Dreitorer)
[Option ID = 2039]
4. ‘certitude and clearness’
foT2rRr ud yfsterar
[Option ID = 2040]

2)

Read the following passage and answer the questions that follow:

As regards the form, there are two indispensable conditions... certitude and clearness.... That logic has advanced in this sure
course, even from the earliest times, is apparent from the fact that, since Aristotle, it has been unable to advance a step
and, thus, to all appearance has reached its completion. For, if some of the moderns have thought to enlarge its domain by
introducing psychological discussions on the mental faculties, such as imagination and wit, metaphysical, discussions on the
origin of knowledge and the different kinds of certitude, according to the difference of the objects (idealism, scepticism,
and so on), or anthropological discussions on prejudices, their causes and remedies: this attempt, on the part of these
authors, only shows their ignorance of the peculiar nature of logical science. We do not enlarge but disfigure the sciences
when we lose sight of their respective limits and allow them to run into one another. Now logic is enclosed within limits
which admit of perfectly clear definition; it is a science which has for its object nothing but the exposition and proof of the
formal laws of all thought, whether it be a priori or empirical, whatever be its origin or its object, and whatever the
difficulties—natural or accidental— which it encounters in the human mind.

-- Immanuel Kant, The Critique of Pure Reason

forgotferRae sterior o ufeu siiz 3 uz smenfya gl @ sar S :
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Efforts of modern scholars to go beyond Aristotle in logic have failed because of:

ads 3 sngyform Agrell @I 3R¥q A 3113l Silol DI YART 33D PRI fawd 3l Sidr 3 :

[Question ID = 511][Question Description = 102_78_CLR_SEP22_S2_Q02]
1. diverse approaches.

ferferer Summr

[Option ID = 2041]
2. allowing more than one kind of ‘certitude’.

D YR D [o120R A 3IfeD b 3ropdiel Soll



[Option ID = 2042]
3. failing to grasp the true nature of logic.

A Pl el yapfer @1 sl 3 fawet glolt

[Option ID = 2043]
4. failing to grasp the nature of knowledge.

sirol b yapfer I ersiol 3 fawet glolt
[Option ID = 2044]

3)

Read the following passage and answer the questions that follow:

As regards the form, there are two indispensable conditions... certitude and clearness.... That logic has advanced in this sure
course, even from the earliest times, is apparent from the fact that, since Aristotle, it has been unable to advance a step
and, thus, to all appearance has reached its completion. For, if some of the moderns have thought to enlarge its domain by
introducing psychological discussions on the mental faculties, such as imagination and wit, metaphysical, discussions on the
origin of knowledge and the different kinds of certitude, according to the difference of the objects (idealism, scepticism,
and so on), or anthropological discussions on prejudices, their causes and remedies: this attempt, on the part of these
authors, only shows their ignorance of the peculiar nature of logical science. We do not enlarge but disfigure the sciences
when we lose sight of their respective limits and allow them to run into one another. Now logic is enclosed within limits
which admit of perfectly clear definition; it is a science which has for its object nothing but the exposition and proof of the
formal laws of all thought, whether it be a priori or empirical, whatever be its origin or its object, and whatever the
difficulties—natural or accidental— which it encounters in the human mind.

-- Immanuel Kant, The Critique of Pure Reason

forsotferRad sterior o ufey 3iiz 37 ur smenf¥a gesil & Iz e :
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Different kinds of ‘certitude’ are posited depending on which two of the following factors ?
A. Who the thinker is.

B. Which discipline is the scholar arguing from.
C. Which philosophical systems the scholar subscribes to.
D. What the objects of knowledge are.

Choose the correct answer from the options given below:

'forarRr’ @ faftioel Yoo foratfciiRad fopel oI PR®I U= smenfed Aol Sird 8 ?
A. Riae @la 3



B. fargror fopa1 sigpomter (frerr) A aas @2 1 &

C. fagror fosa goforem<fikr ugfer @1 Jarelor waa &
D. siror & faw=r a=m &

ofia 3w a1 fawcal 3 A A& a2 goi :

[Question ID = 512][Question Description = 103_78_CLR_SEP22_S2_QO03]
1. Aand D only

Dact A iz D

[Option ID = 2045]
2. Cand D only

dact C 3z D

[Option ID = 2046]
3. Band Conly

@act B sik C

[Option ID = 2047]
4. Aand Conly

Pact A 3z C
[Option ID = 2048]

4)

Read the following passage and answer the questions that follow:

As regards the form, there are two indispensable conditions... certitude and clearness.... That logic has advanced in this sure
course, even from the earliest times, is apparent from the fact that, since Aristotle, it has been unable to advance a step
and, thus, to all appearance has reached its completion. For, if some of the moderns have thought to enlarge its domain by
introducing psychological discussions on the mental faculties, such as imagination and wit, metaphysical, discussions on the
origin of knowledge and the different kinds of certitude, according to the difference of the objects (idealism, scepticism,
and so on), or anthropological discussions on prejudices, their causes and remedies: this attempt, on the part of these
authors, only shows their ignorance of the peculiar nature of logical science. We do not enlarge but disfigure the sciences
when we lose sight of their respective limits and allow them to run into one another. Now logic is enclosed within limits
which admit of perfectly clear definition; it is a science which has for its object nothing but the exposition and proof of the
formal laws of all thought, whether it be a priori or empirical, whatever be its origin or its object, and whatever the
difficulties—natural or accidental— which it encounters in the human mind.

-- Immanuel Kant, The Critique of Pure Reason

forgsifeiRae srerior ool ufeu siiz 331 u= smenfya gl @ 3ar v
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qrapferes srerar srpa® o2l off goor & @wfdensAl 3 arera aAf¥acm 3 As A6 w2 &

Which of the following statements best define ‘certitude’ and ‘clearness’?
A. These are two conditions of the evolution of logic.

B. These have to do with the ‘form’ of knowledge.
C. These have prevented the further advance of logic.
D. These existed in the earliest stages of logic.

Choose the correct answer from the options given below:

forgetferlRae 31 31 Blel A1 Deuct "o vd gisterdr’ @l AdYss WU 3 ufesnfta ovar 3 ?
A. ad5 @ 3fE®rRI Bl As 31 [azFArE 3
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C. 530l @ @ 311 DI Ioaifer Bl A a1
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oikY feu arv faeal 3 A A Ia= gol ¢

[Question ID = 513][Question Description = 104_78_CLR_SEP22_S2_Q04]
1. Aand D only

@act A sk D

[Option ID = 2049]
2. Aand B only

@act A 3iiz B

[Option ID = 2050]
3. Band Conly

Dact B 3z C

[Option ID = 2051]
4. Band D only

Dact B siiz D
[Option ID = 2052]

5)

Read the following passage and answer the questions that follow:

As regards the form, there are two indispensable conditions... certitude and clearness.... That logic has advanced in this sure
course, even from the earliest times, is apparent from the fact that, since Aristotle, it has been unable to advance a step
and, thus, to all appearance has reached its completion. For, if some of the moderns have thought to enlarge its domain by
introducing psychological discussions on the mental faculties, such as imagination and wit, metaphysical, discussions on the
origin of knowledge and the different kinds of certitude, according to the difference of the objects (idealism, scepticism,
and so on), or anthropological discussions on prejudices, their causes and remedies: this attempt, on the part of these
authors, only shows their ignorance of the peculiar nature of logical science. We do not enlarge but disfigure the sciences
when we lose sight of their respective limits and allow them to run into one another. Now logic is enclosed within limits
which admit of perfectly clear definition; it is a science which has for its object nothing but the exposition and proof of the
formal laws of all thought, whether it be a priori or empirical, whatever be its origin or its object, and whatever the
difficulties—natural or accidental— which it encounters in the human mind.

-- Immanuel Kant, The Critique of Pure Reason



forgsifeiRae srerior oo ufeu sz 331 U= smenfya gl @ 3ar v
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gfg, aifeam, sier & Iga 3R forarr @ fftoel YRl U= gat-avrqail (sngelars, J9rm@rs, iz swnfe) &l fcerdr @ AR sferar yaisel iR
HATGIAIRTRI TICAIT IoId> PRUI 3R AHIEMGT $ol ciAD] bl RB A AU PRI ad fdsirer &l fafdrse gapfer @ gfer 3orchl ddact sistrerar oI corfar 3
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A1 3R YferurGol o SMIctal ©B oidl 3, IS UG GIIdSIiond al AT gdsirel UR 3menf¥d al, sADI 3¢d iR $A®I 3297 oo it &l Adar 3, 3
grpferes srerar snapRae 52l sft ywr & widens:l 3 aca af¥ase 3 as Aeen oar 3

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R .

Assertion A : The writer holds that the sciences are not enriched but rather undermined when different sciences are
brought together.

Reason R : Because each discipline has well-defined and variable boundaries or limits.

In light of the above statements, choose the correct answer from the options given below

il Q1 perol fu sre 3 1 uep @l sifdrpere (A) 3R 2R @l drul (R) sl srRI &

aifdrpeet (A) : TRa® DI As Alololl & b fASII6l AY.g o1dl Bld & afcd Sid faifdieol YR @ fdsiell Pl U AT IR SIIAT & dl Joldbl gifer 31 Bleil
g

orur (R) : @@ifes gA® o gufesnfa iz sadt af¥aderefia e 3
IWRTh DUl B 3rciled 3 forvotifepa farpeal 3 A A8 I= goi ¢

[Question ID = 514][Question Description = 105_78_CLR_SEP22_S2_QO05]
1. Both A and R are true and R is the correct explanation of A.

(A) stz (R) il 3t 8 3iR (R), (A) & 34 =meen

[Option ID = 2053]
2. Both A and R are true but R is NOT the correct explanation of A.

(A) siiz (R) Gl 218t & weog (R), (A) &I 1t =m=n ot 8

[Option ID = 2054]
3. Ais true but R is false.

(A) 2t @ wog (R) 2l ol &

[Option ID = 2055]
4. Ais false but R is true.

(A) 8l oél 8 uzog (R) @t &

[Option ID = 2056]



Topic:- 072_UGCNET_SEPT22_S2_PartB

1)

Read the following passage and answer the questions that follow:

Again with Shakespeare we hear or read the same advice—‘Play what is written.’ But what is written? Certain ciphers on
paper. Shakespeare’s words are records of the words that he wanted to be spoken, words issuing as sounds from people’s
mouths, with pitch, pause, rhythm and gesture as part of their meaning. A word does not start as a word—it is an end
product which begins as an impulse, stimulated by attitude and behaviour which dictate the need for expression. This
process occurs inside the dramatist; it is repeated inside the actor. Both may only be conscious of the words, but both for
the author and then for the actor the word is a small visible portion of a gigantic unseen formation. Some writers attempt to
nail down their meaning and intentions in stage directions and explanations, yet we cannot help being struck by the fact
that the best dramatists explain themselves the least. They recognize that further indications will most probably be useless.
They recognize that the only way to find the true path to the speaking of a word is through a process that parallels the
original creative one. This can neither be bypassed nor simplified.

-- Peter Brooke, The Empty
Space

forgstifcpe sreriorn @1 ufeu iz 33 Adfera gesil @ 3z e ©
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‘Play’ in 'Play what is written' means:

"ol ogIc 3ol f¥eor’ & "tal’ BT MR a=IT 3 ?

[Question ID = 515][Question Description = 106_78_CLR_SEP22_S2_Q06]
1. enact

31fdeRI Dol (3olac)

[Option ID = 2057]
2. speak

dicterr (i)

[Option ID = 2058]
3. do

D0l ()

[Option ID = 2059]
4. repeat

gorargfer (fdic)



[Option ID = 2060]

2) Read the following passage and answer the questions that follow:

Again with Shakespeare we hear or read the same advice—‘Play what is written.’ But what is written? Certain ciphers on
paper. Shakespeare’s words are records of the words that he wanted to be spoken, words issuing as sounds from people’s
mouths, with pitch, pause, rhythm and gesture as part of their meaning. A word does not start as a word—it is an end
product which begins as an impulse, stimulated by attitude and behaviour which dictate the need for expression. This
process occurs inside the dramatist; it is repeated inside the actor. Both may only be conscious of the words, but both for
the author and then for the actor the word is a small visible portion of a gigantic unseen formation. Some writers attempt to
nail down their meaning and intentions in stage directions and explanations, yet we cannot help being struck by the fact
that the best dramatists explain themselves the least. They recognize that further indications will most probably be useless.
They recognize that the only way to find the true path to the speaking of a word is through a process that parallels the
original creative one. This can neither be bypassed nor simplified.

-- Peter Brooke, The Empty
Space

forotifee srerion @I ufeu siiz 39 Adfera ygeil @ 3az e :

T aR 52 IIGRIRIR 3 &3 adl Acie- "SIl feran sk 8 G138t sifdera el (Tl salc soI f¥¢al) Hotol 3ii? Ugol @I frerdl 3 cifdpor a=im ferar srr
8 ? ORI U @P 9o ITANRR @ 9156 Jol 9] B Yl & foled a6 arsdl T & dict SIY, Ioid 31ef @ HIPT @ WU 3 AR, [RE, oI ik
JfeIfagIa @ AT clivll @ I A &dforll B BU A Sl 9166 foldeld & U 9166 fep=il 91sg @ U 3 YR odl Bldl 3- U8 U 3ifer 3curs 3 Sil o
3IA3T & WU I MRFIH BT 3, SiI AR 3R RaBR R IEMUA aldr 3 iR sifdraftp & smagAmar ol sif2ifese w1 3 Ae yfopRn slichdr &
ol & IcUcol BXcdl & ; sif¥relar @ silaz s3bl Yorargfer Bl 3 Sloil dact 9reci @ yfer JAd 8l Add &, cifdbol Mol - Uscl cRad @ fere siiz fisz
3if¥reler @ fo1g oreg Wop faRIc srevc foifdffer o1 o1y z9drel T EldI 8 B D Iold 31ef wd IMYRIT DI Fa-forersil wd crsAIali 3 Sipsol
DT RIRT D 3, 52 91t &I 3 AT A Prfdd ol 3 JBRIAT 18l B2 A &b A SIICHPR IR DI RIGIAH RRSAIRIA DAl & d AS ATl &
o saad siferfed Addl D =ref Flol i Jaifere dsinaet dPlt A As A 8 [ il 9rec BI Icaif¥a ol / diciol &I Jdt AADBI YA Dol DI
Ul AR Hifetd IFstol DI AdATeliaR YIR A SRAI 3 33D of dl aacloll bl SIT Al 3 3iIR of 8l 337 Acilapa fvan s JADar 8

Which two of the following statements about the written words in Shakespeare’s plays are suggested in the passage?
The written words are :

A. codes signifying a world of meaning.
B. meant to be acted not spoken.

C. sounds with all phonic attributes.

D. what they mean in public usage.

Choose the correct answer from the options given below:

IITANRRR @ sllcdl I oA 31T orecl @ Aocs I forFarfeiRaa werell 3 31 Dot A <1 S1Erior 3 JYIRIIIT 3 ?
fere a1y 9rsG B :

A. 31ef-S1 DY I 2ol arel e

B. 3311 319RI 3iftiora A 3 of fep dictol A

C. a3t Faforas apuil archt eaforit

D. wrdsifore SRS 3 oI a=T IR 3

offa fou s1e freseal 3 A wd Jaz gol :

[Question ID = 516][Question Description = 107_78_CLR_SEP22_S2_QO07]
1. Aand D only
Dact A siiz D

[Option ID = 2061]
2. BandConly
Dact B sz C

[Option ID = 2062]
3. Aand Conly
et A 3iiz C



[Option ID = 2063]
4. CandD only
@act C siiz D

[Option ID = 2064]

3) Read the following passage and answer the questions that follow:

Again with Shakespeare we hear or read the same advice—‘Play what is written.’ But what is written? Certain ciphers on
paper. Shakespeare’s words are records of the words that he wanted to be spoken, words issuing as sounds from people’s
mouths, with pitch, pause, rhythm and gesture as part of their meaning. A word does not start as a word—it is an end
product which begins as an impulse, stimulated by attitude and behaviour which dictate the need for expression. This
process occurs inside the dramatist; it is repeated inside the actor. Both may only be conscious of the words, but both for
the author and then for the actor the word is a small visible portion of a gigantic unseen formation. Some writers attempt to
nail down their meaning and intentions in stage directions and explanations, yet we cannot help being struck by the fact
that the best dramatists explain themselves the least. They recognize that further indications will most probably be useless.
They recognize that the only way to find the true path to the speaking of a word is through a process that parallels the
original creative one. This can neither be bypassed nor simplified.

-- Peter Brooke, The Empty
Space

forgatifdpe sreriorn @1 ufeu iz 33 Adfera gesil @ 3z e ©

T dR 52 AR A &3 9l Acis- 'S forar srRi @ 321 81 IfoRI Bl (il el s f¥eer) ool 3R UG ol frercl 3 cifépor o= ferar sk
3 ? PPN R OB Yo ATANRR D 916C Jol 9165l D Yol 3 folos ds dredl AT b diecl e, Jotdd 3ref @ se1 & WU 3 FarmEm, formE, oI sl
3iorfarga > ATer cliell & Fxa A eaforil @ wu 3 Sit 91es formerd & v 9reg =it oreg @ WU 3 Yres 18l B 3- As U sifera Scurs 3 Sl o
TAST @ WU I RIS BT 3, Sl ARG 3R RAR GRI UG Brar 3 3R sifircafts &I sragAamar @I if2ifcte w1 3 A8 YfaR slicddR D
3ol 3 ool Bl 3 ; 3if¥roldr @ iz sADI YorRIgle BXcil 3 Sloll dact 9recl @ Yfel A 81 Add &, cifbol Sloll - Uscl cla® @ ferg siiz b2
3if¥toldr @ fe1q 9rsg wopb forre sreve foifdifer @1 oy zoudTel MPI BIAI 8 W XD Ioldd> 31l wd YNl @I dia-forersil ud carensil i Sipsol
DI JARI B 3, b2 9ft 3 $1 agr A Yenfaa Slel 3 ABRIAT oIdl B2 ADd b AR SlIcP DR IR Bl —YolddH RRSKAIRMA B3 3 d A8 ATl 3
5 s siftifyen FAddl D el Ao B Aaifers Fsmaon A A w16 A 3 b il orec DY FTarfya wot / dictol @1 A THBT Yra Bl BT
QA ART Hlferd IPstol DI AdAeTiaR Y A ISRAI 3 3AD] of dl 3rddeloll bl ST Ad<dl 3 317 of 8 $A Acilapd v s ADdar 3

Choose the two correct sub-options on the basis of what is suggested in the passage.
The “gigantic unseen formation” of meaning that lies hidden under the audible/visible word is the product of a long process of
maturation inside :

A. the dramatist.
B. the spectator.
C. the critic.
D. the actor.

Choose the correct answer from the options given below:

STErior 3 Sl JIRI 3RIT & SHD IR UR <1 Al sufdacul @I gforn

aref o1 "fRIc sieve Bifda” Sit gpe/zew 9reg @ siceid YIgl WU A Urdl 3 dz siidafie uf¥uaadr i SiH-yfpar o1 3curg 3Xdl 3 :
A. siicpdR

B. gofw/ggim

C. sircira®

D. aifdrorar

offa fou s1e freseal 3 A 2dt Ia= gol :

[Question ID = 517][Question Description = 108_78_CLR_SEP22_S2_Q08]
1. Aand D only
Dact A siiz D

[Option ID = 2065]
2. BandConly



@Dact B afiz C

[Option ID = 2066]
3. Cand D only
Dact C 3z D

[Option ID = 2067]
4. Band D only
Dact B sfiz D

[Option ID = 2068]

4) Read the following passage and answer the questions that follow:

Again with Shakespeare we hear or read the same advice—‘Play what is written.’ But what is written? Certain ciphers on
paper. Shakespeare’s words are records of the words that he wanted to be spoken, words issuing as sounds from people’s
mouths, with pitch, pause, rhythm and gesture as part of their meaning. A word does not start as a word—it is an end
product which begins as an impulse, stimulated by attitude and behaviour which dictate the need for expression. This
process occurs inside the dramatist; it is repeated inside the actor. Both may only be conscious of the words, but both for
the author and then for the actor the word is a small visible portion of a gigantic unseen formation. Some writers attempt to
nail down their meaning and intentions in stage directions and explanations, yet we cannot help being struck by the fact
that the best dramatists explain themselves the least. They recognize that further indications will most probably be useless.
They recognize that the only way to find the true path to the speaking of a word is through a process that parallels the
original creative one. This can neither be bypassed nor simplified.

-- Peter Brooke, The Empty
Space

forgatifdpe srerior @1 ufeu i 331 Adfera gesll @ Iz i ©

T dR 52 IIGRARIR 3 & adl Acis- 'Sii feran sk @ 1 8t sifdera ol (Tl salc soI f¥¢al) Hotol 3iiR Ugol @l frerdl 3 cifdbor o= ferar srRr
& ? PPN U @P 9o ITANRR @ 9156 Jol 9] B Yol & foled a6 arsdl T & dict SIY, Ioid 31ef @ HIPT D WU 3 IR, [REI, oI iR
JfeIfagIa @ AT clivll @ I A &aforll B U A il 916 foldeld & U 9166 fep=il 916c @ U 3 YR odl sldr 3- AU U 3ifeEI 3curs 8 Sl o
TSI & WU I MRFIH BT 3, Sl AR R TR GRI UG aldr 3 iR sifdrcaftp 6 smagAamar ol sif2ifese w1 3 A1e yfopRn slicddr &
301 3 Icuool Bleil 3 ; Sif¥roldar @ 9fiaR DI YorIghi Bkl 3 Slell dact 91esl B Yfel AA Bl ADd 3, Alfbol Slell - Usel cRa® @ feru 3z b
3ifdroler @ fo1g oreg Wb faRIc sreve foifdifer o1 o1y z9drel M1 EldI 8 B D Iold 31ef wd IMYRIT DI Fa-forgersil wd carsAIsli # Sipsol
DI JART B 3, fib2 off 3 531 agr A Yenfad Siol 3 ABRIAT ofdl 2 AP b AdMH SlIcPDPR IR Pl RIeIddH RIRIIRMA D 3 d As ATl 3
fop sarad sifeifees Fidbdl & cuef Bt &t Faifrs Hsnaon sl I We A 3 6 b1t 9rec @1 Icanf¥a w2or / dictol 1 A3l ADBI YIa Bl BT
T AP Hiferd IYsTol DI AATEIIAR YA 3 IERAT 8 $AD! of dl AAScIoll Dl ST AD & 3R of 3l $A Aclid =l ST ADdr 3

"[S]tage directions and explanations” ...to "nail” the “meaning and intentions” of the written word are given by:
ferRaa orect @ "sref wa MIgRI" DY "Sibsa” @ fere "da-forserel vd =ImRens™... forsifciRad 3 A fpa®d RIS sE 3 :

[Question ID = 518][Question Description = 109_78_CLR_SEP22_S2_Q09]
1. the director.
forores

[Option ID = 2069]
2. the dramatist.
SICHDIR

[Option ID = 2070]
3. some playwrights.

@S GICDHDRI GRT

[Option ID = 2071]
4. the co-actors.

315~ 3ifdrotarsit

[Option ID = 2072]

5) Read the following passage and answer the questions that follow:

Again with Shakespeare we hear or read the same advice—‘Play what is written.’ But what is written? Certain ciphers on
paper. Shakespeare’s words are records of the words that he wanted to be spoken, words issuing as sounds from people’s
mouths, with pitch, pause, rhythm and gesture as part of their meaning. A word does not start as a word—it is an end



product which begins as an impulse, stimulated by attitude and behaviour which dictate the need for expression. This
process occurs inside the dramatist; it is repeated inside the actor. Both may only be conscious of the words, but both for
the author and then for the actor the word is a small visible portion of a gigantic unseen formation. Some writers attempt to
nail down their meaning and intentions in stage directions and explanations, yet we cannot help being struck by the fact
that the best dramatists explain themselves the least. They recognize that further indications will most probably be useless.
They recognize that the only way to find the true path to the speaking of a word is through a process that parallels the
original creative one. This can neither be bypassed nor simplified.

-- Peter Brooke, The Empty
Space

forgstifepe sreriorn @1 ufeu iz 33 Adfera gesil @ 3z e ©

o dR 52 AR A &3 Il Acis- 'S forar srRn @ 321 81 IfioRI Bl (i el 31 f¥eer) Jolol 3R UGl ol firercll 3 cifépor o= ferar sk
3 ? PPN R OB Yo ATANRR D 916C Jol 9165l D Yoid 3 folos ds dredl AT b diel e, Jotdd 3ref @ e1 & WU 3 FaRmEm, formE, oI sl
3iorfargia @ AreI cliell & Fxa A eaforil @ wu 3 Sif 91es formeid & v 9reg =il oreg @ U 3 YR 18l B 3- As U sifera Scurs 3 Sl oD
TAST @ WU I RIS Bl 3, Sl ARG 3R AR GRI UG Bar 3 3R sifircafts &I sragAamar @I if2ifSte w1 3 As YfR slicddR D
3ol 3 Icuool Bl 3 ; 3if¥rolar @ iz sADI YorRagle BXcil & Sloll dact 9reci @ yfel AAd 81 Add F, cifbol Sloll - Uscl cia® @ ferg siiz b2
3if¥folcr @ fo1q 9reg U forre sreve foifdifer @1 oy zoadTel M1 Bl 8 WP XD Ioldd 31l wd RNl @I dia-forersil ud caresil i SIpsol
DI JARI B &, b2 9t 3 $1 ag A Yenfaa Sl 3 ABRIAT oIdl B2 ADd b AR SlIcPDR IR Bl —YoIddH RRKAIRMA B3 3 I As ATl 3
5 s siftifye FAddal D el Ao B Aaiffrs Fsmaon A A w16 A 3 b il orec DY Fcarfya wot / dictol @1 A AHBI Yra Bl BT
S Iy ART Hlferd IPstol Bl AdAeTiaR gip A ISRAr 3 3AD] of dl 3rddetoll I S AdD«dl 3 317 of 8 3 Acilapd e s ADar 3

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Giving “stage directions and explanations” about meaning of words in a play does not work.

Reason R : The enactment process has to follow the creative process.

In light of the above statements, choose the correct answer from the options given below:

il Y werot Ru a1e 3 : uas @l sifdrperdt (A) 3iiR g3 @I @Rl (R) a1 srRn 3

sifdrperet (A) : Rzt cire 3 9rect @ 3ref B Ao I YgTal Y 315 "Ha-forSereT vd ReS” BRI o1éf wcll &
@ruI (R) : sifdorR yfprn Jsielicad YfpT &1 36T Bcll &

IWRITH DUl D 3Iclld i fogatifepa faraeul 3 1 A8l 392 gol :

[Question ID = 519][Question Description = 110_78_CLR_SEP22_S2_Q10]

1. Both A and R are true and R is the correct explanation of A.
(A) 3z (R) cleil &t & 3z (R), (A) &I 218l carcen &

[Option ID = 2073]
2. Both A and R are true but R is NOT the correct explanation of A.
(A) 3z (R) cleil 1ét & uzog (R), (A) &I 18l carcan ot &

[Option ID = 2074]
3. Ais true but R is false.
(A) 3 3 weog (R) 2t ol 3

[Option ID = 2075]
4. Ais false but R is true.
(A) 1@t ol 8 weog (R) 3wt 28

[Option ID = 2076]

Topic:- 072_UGCNET_SEPT22_S2_PartC

1) Which of the following represents an essential aspect of the methodological approach of Comparative Literature?
qcTollcA® A3 D YuIchddRI 3ueR & 3maeue® ugl @l forsifeiRaa 3 A dlal A1 ggd @1 3 ?

[Question ID = 520][Question Description = 111_78_CLR_SEP22_S2_Q11]
1. Focus on the marginal aspects of literary history
Jfdfeare sfeerRt & Mt usit w &6 Jorr

[Option ID = 2077]
2. Exclusion of the non-canonised texts



S>-ypniire enfsjelt (aifor Sotosss 2ave) DT Jastor

[Option ID = 2078]
3. Studying the texts in vernacular literatures through a dominant language
b gardl T & e A Soft fERI O sjell I 3reRRIo

[Option ID = 2079]
4. Subject matter of texts as a non-essential aspect of literature
BRI D S1-51F3 usl D FU 3t djell Dl f[ArRI-avg

[Option ID = 2080]

2) Which of the following statements can be deduced on the basis of Carl Jung’s notion of ‘archetypes’?:
A. Literary responses to human experiences have similarities.

B. Human mind does not react differently in similar situations.

C. Creative writings have extraordinary representation of human experiences.

D. Authors in different time and space may have similar worldviews.

forgotferiae 3 2 wiot 2 DeIoT DIt ST B "AERST' BT LRI B TR UR Gl B oIt ADBA S ?
A. airordiR sioperdil @ i3 feads YRl 3 Adreran a1 Awdl 3

B. Firera sif3 e 91101 ufiR-erferil 3 firoor 2ou A gferfepgan oidt w2ar 3

C. JSIOIcHD CI¥ol 3 ATGIARI iG] BT 3RATENRVI foreuvt Sler 3

D. drapl &1 fireot foaapret 3 961 Reaefte 8 Al 3

offa fou s1e freseal 3 A d Ia= gol :

[Question ID = 521][Question Description = 112_78_CLR_SEP22_S2_Q12]
1. Aand C only
Dact A siiz C

[Option ID = 2081]
2. BandConly
Dact B sz C

[Option ID = 2082]
3. Aand D only
et A 3sik D

[Option ID = 2083]
4. Cand D only
dact C 3z D

[Option ID = 2084]

3) Which of the following is an important reason of delayed reception of Shakespeare in France?

B 3 IRANRR B fcid A 38U Dol BT Asvayul BRI ferwotferRac 3 2 ot A1 3 ?

[Question ID = 522][Question Description = 113_78_CLR_SEP22_S2_Q13]
1. French society did not understand English sensibilities.

w2l et of Ph-2Adgetsil al ofdl e

[Option ID = 2085]
2. Shakespeare’s plays were free of the rules of unity.

ITRAMRR D ollcd 3ifodfel D formed A b A

[Option ID = 2086]
3. French aristocracy did not want to watch non-French theatre.
piRfiRd sifdrsa-ast s> wiidf fRIce @ o8l Sdon asar e

[Option ID = 2087]
4. Shakespeare wrote both tragedy and comedy.
IIGANRR ol GAIAD 3MR IAMGAD Jloll ollcd feRA

[Option ID = 2088]

4) Which of the following is an English translation of the Bible authorised by the Roman Catholic Church?



A3el Delferd ad FRI sifermd 'arsac’ o1 A)sll srefars fowsferRaa i A Blar A1 3 ?

[Question ID = 523][Question Description = 114_78_CLR_SEP22_S2_Q14]
1. King James translation of the Bible

fAboT ST T 'AISTCT DI IS

[Option ID = 2089]
2. Geneva Bible

Sloldl dIseel

[Option ID = 2090]
3. Biblia vulgata
farfdetam acsmer

[Option ID = 2091]
4. Douay-Rheims Bible
$A-ASFA AISECT

[Option ID = 2092]

5) Match List | with List Il

List | List Il

Text Language
IA. Adhyatma Ramayanall. Pali

B. Gaha Sattasai Il. Tibetan
C. Vinaypitaka Ill. Kannada
D. Kangyur IV. Sanskrit
E. Vachanagulu V. Prakrit

Choose the correct answer from the options given below:

et -1 Y 3 -l A AT Bifdre :

aeht -l et -1l
ofer SITST

A, SIEATCH IAATRIVT . arfer

B. a11a1 It Il. fereaeit
C. faorr flrea Ill. woors
D. oz IV. Iizma
E. arcretoye V. grapa

ofia 3 a1e faseul 3 21 A8l Iaz giee :

[Questlon ID = 524][Question Description = 115_78_CLR_SEP22_S2_Q15]
A-1,B-IV, C-lll, D -V, E-ll [Option ID = 2093]

. A-ll,B-lI,C-V,D-lll, E-IV [Option ID = 2094]

. A-IV,B-V,C-l,D-ll, E-lll [Option ID = 2095]

. A-V,B-IV, C-lll,D-I, E-Il [Option ID = 2096]

Awr\s—\

6) If the word ‘atma’ is translated as ‘soul’ in an English translation of a text on Indian philosophy, which of the following
statements would be correct regarding the policy of translation?

A.The translation is target-culture oriented.

B.The translation is source-culture oriented.

C.The translation is related to national pride.

D. The translation renders an untranslatable term inaccurately.

Choose the correct answer from the options given below:

R gofor @ fepii sjer @ siv)sil srefars 3 AfS 'simcar’ ores @1 "Hler’ (Soul) ores 3 argyfd fapn 3R B, Al siglarc-oilfer & Aogs 3 fowaIfeiRaa wersil i 3
ol A Al Bidr ?

A. sre1arc dvapfe -cagiicazl 3

B. siqqars @i -ideaxd 3

C. srefarg eI ofiva A el &



D. so1dre 313-3IoldIc IRl Uc a1 3RIef aild A WUl DI 3
il feu are ferapeul 3 3 3l 32 ol :

[Question ID = 525][Question Description = 116_78_CLR_SEP22_S2_Q16]
1. Aand D only
Dact A siiz D

[Option ID = 2097]
2. BandConly
Dact B sz C

[Option ID = 2098]
3. Cand D only
@qcet C 3k D

[Option ID = 2099]
4. Band D only
Dact B siz D

[Option ID = 2100]

7) Which of the following can be a reason for collecting songs from various languages in the Guru Granth Sahib?

'31% ofee Afdd’ 3 fafdtcor HIUIS & fidl ) FHdlerd w0l B BRI forgsifer¥aa 3 A wdlor AT a1 ?

[Question ID = 526][Question Description = 117_78_CLR_SEP22_S2_Q17]
1. To make the text a multilingual one
eI Pl agIfia dollol @ forg

[Option ID = 2101]
2. To include the samples of various languages
fafdroot srremall @ yfergolf @ onfirer w2or & forw

[Option ID = 2102]
3. To include knowledge from various linguistic groups
fAfdroor ANIS YT 3 SII6T QNI DIl D fere

[Option ID = 2103]
4. To spread the message in various linguistic groups
fafdreor surs Egel 9 Aoder YA Dot D fore

[Option ID = 2104]

8) Which of the following can be a reason for the interest of the 19th Century Europeans in the Indian knowledge systems?:

HIRdRI sirel ugfer 3 19 Y 31t & FRAMRI &6 sifdrsRr o forgoferl3aa 3 3 el A ®RUI 81 ADA S ?

[Question ID = 527][Question Description = 118_78_CLR_SEP22_S52_Q18]
1. India was a colony of the French, the British and the Portuguese.
o wiflft, 3iSjet vd ydenclt Juforder em
[Option ID = 2105]
2. India had a rich tradition of textual studies.
91 3] UIG-3IERIGT bl LG WA oft
[Option ID = 2106]
3. India had several ethnic groups.
91161 31 3[0ID ofSIIiRI B A
[Option ID = 2107]
4. Indians did not surrender to colonisers as did some Latin American tribes.
Sl fob e cifefol ST Siotsnferll of fopem, stellil of Jufordordl @ Jeret Hardur olal fdperr

[Option ID = 2108]

9) Which of the following rasas is not mentioned in Natyasastra?

forgoiferR3aa 2241 3 21 b1 aviat 'sirgzronzy 3 o8t & ?

[Question ID = 528][Question Description = 119_78_CLR_SEP22_S52_Q19]
1. Shanta
olict



[Option ID = 2109]
2. Shringar
9PIR

[Option ID = 2110]
3. Veer
dz

[Option ID = 2111]
4. Karuna
DB

[Option ID = 2112]

10) Which of the following is a correct sequence for understanding the meaning of a text progressively in terms of
Shabdashakti?

91eG9IftP @ 3ol Ucl 3 urs @ 3ref ! A3IsIol D fere fogarfelRaa 3 21 218l sl ®let A13 ?
[Question ID = 529][Question Description = 120_78_CLR_SEP22_S2_Q20]

1. Vyangyartha, vacyartha, laksyartha
eioeref, arcemef, cigRmef

[Option ID = 2113]
2. Laksyartha, vacyartha, vyangyartha
crgmel, arcemef, wisemef

[Option ID = 2114]
3. Vacyartha, vyangyarhta, laksyartha
arcenef, wisemel, cigRmef

[Option ID = 2115]
4. Vacyartha, laksyartha, vyangyartha
arceref, cigmef, wiseref

[Option ID = 2116]

11) Statement | : Dhvani school of poetics elaborates upon the creative usages of the oblique expressions in a poetic verse.
Statement II: Dhvani school of poetics puts emphasis on suggestive intent of a literary text.

In the light of the above statements, choose the most appropriate answer from the options given below.

ofid €1 @erel e s1e 3 :

D - | : PIRIIRT D eafol AYGRI 3 BIRIHAD &6 3 3R AMIRISION OB JSTolcHD YT BT quiet gt strar 3
@l - || : Preong @ eafor AYgrI i Affead ofer B eae (RisTolicard) MMIRI UR del &1 Sirer 3

SURfTb el B 3Mrclie 3 frotfeiRad Riacul i A A&l 3az gl :

[Question ID = 530][Question Description = 121_78_CLR_SEP22_S2_Q21]

1. Both Statement | and Statement Il are true
@erot | 3l || Sl 218t &

[Option ID = 2117]
2. Both Statement | and Statement Il are false
@l | 3R || Slall arera &

[Option ID = 2118]
3. Statement | is true but Statement Il is false
el | AT & , fepog el |l ster &

[Option ID = 2119]
4. Statement | is false but Statement Il is true
el | 3RIc &, fpog et || adl &

[Option ID = 2120]

12) Which of the following terms denotes the word preceding the last word of each couplet in a ghazal?

forgsiferi¥aa 3 31 ®la A1 us sEIe @ YD fudl @ siferr orec @ gdard! ores o 3B a1 3 ?

[Question ID = 531][Question Description = 122_78_CLR_SEP22_S2_Q22]
1. Matla



FHACT

[Option ID = 2121]
2. Qafiya

pIftbeIr

[Option ID = 2122]
3. Makta

FHDT

[Option ID = 2123]
4. Misra
firrr

[Option ID = 2124]

13) Who among the following is said to have blended Persian with Hindavi to create a hybrid poetic register?

forgsiferf¥aa 3i A1 b2l w2 It gIfp &1 ¥t 3q Boodl @ e Bifdfa vl @& yRieT & fére siren siar 3 ?

[Question ID = 532][Question Description = 123_78_CLR_SEP22_S2_Q23]
1. Amir Khusrau

Eiriingees:n)y

[Option ID = 2125]
2. Omar Khayyam

32 AaATH

[Option ID = 2126]
3. Allama Igbal
3celidAl DIt
[Option ID = 2127]
4. Faiz Ahmad Faiz
BT 318916 Bt

[Option ID = 2128]

14) Which of the following is an important text of Pali literature?
forgsiferi3ae 3 3 urfer 3fdea @1 Ascayut sjer wlot AT 3 ?

[Question ID = 533][Question Description = 124_78_CLR_SEP22_S2_Q24]
1. Nettipakarana
olferaasor

[Option ID = 2129]
2. Brihatkatha

[Stergestid

[Option ID = 2130]

3. Kathasaritsagara
BARITSRAPR

[Option ID = 2131]
4. Gaha kosha
STIBT DIoT

[Option ID = 2132]

15) Match List | with List Il

List | List Il

Poet Text

A. Vidyapati I. Nachiar Thirumozhi
B. Kabir Il. Kirtilata

C. Tulsidas Ill. Bijak

D. Andal IV. Ramcharitamanasa|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife



Rxett -1 Ryt -1l

pfar gra®

A. fremafer |. snfiRRIR frsalsht
B. wdle Il. <bifeferanr

C. I, disrs

D. srisrer V. Jeraf¥aemera

oiiI fSu a1e famedl 3 A A8 IR ot :

[Question ID = 534][Question Description = 125_78_CLR_SEP22_S2_Q25]
1. A-I,B-Iv,C-lll, D -l

[Option ID = 2133]
2. A-lILB -, C-Il, D-IV

[Option ID = 2134]
3. A-1ll,B-Il,C-I,D-IV

[Option ID = 2135]
4. A-11,B-lIIl, C-IV, D -l

[Option ID = 2136]

16) Which of the following are different names for the main deity sung in Abhanga?
A. Vitthal

B. Ganapati

C. Murugan

D. Vithoba

Choose the correct answer from the options given below:

319i31 31 TR 3R Ygid Sadt @ fer faifdioot otran forgoifeiRaa @ A dla1 & ?
A. fagar

B. srorufer

C. gt

D. faorar

ofi feu a1e facal 3 A A8 Iaz BT WRIel BRI :

[Question ID = 535][Question Description = 126_78_CLR_SEP22_S2_Q26]
1. Aand B only
@t A 3z B
[Option ID = 2137]
2. Aand D only
@ddct A stk D
[Option ID = 2138]
3. Cand D only
@qcet C ik D
[Option ID = 2139]
4. Band D only
@ddqct B sk D

[Option ID = 2140]

17) Which of the following can be most appropriately called the single greatest marker of European modernity?

forrarferRaa 3 21 fop=l Jraifere siifRrergut @1 A RIURT snefforamar o1 v AdIYTs Jad Pl Il ADdl & ?

[Question ID = 536][Question Description = 127_78_CLR_SEP22_S2_Q27]
1. Love

Lt
[Option ID = 2141]



2. Work
PRl

[Option ID = 2142]
3. Secularization
cilfesdbiasaor

[Option ID = 2143]
4. Nature
gapfer

[Option ID = 2144]

18) Match List | with List Il

List | List Il

Author Book

A. R.K. Narayan I. Untouchable

B. Nissim Ezekiel Il. Kamayani

C. Jayashankar Prasad lll. The Sleepwalkers
D. Mulk Raj Anand IV. The Guide

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

Rxett -1 il

cRa® gradm

A. 3I1=.95.5TRRIVT |. sfolcdacd

B. for=fiar wolmIsal Il. DraARGH
C.SRI9I®BR AT 1. g Fehiuarmt
D. g 3T 3MIoic IV. g alss

oif<l feu ore fedl 3 A A8 3R gfore :
[Question ID = 537][Question Description = 128_78_CLR_SEP22_S52_Q28]
1. A-ll, B-lll, C-IV,D -l

[Option ID = 2145]
2. A-L,B-Il, C-lIl,D-IV

[Option ID = 2146]
3. A-Il,B -1, C-IV, D-lll

[Option ID = 2147]
4. A-IV,B-1ll,C-Il, D -l

[Option ID = 2148]

19) Which of the following is period wise correct arrnagement of the following dramatists?
forratfeiRad siicd®RI BT BI-3eRIR A8 RMal¥eda Fu fegetifesd 3 A dlea a1 8 ?

[Question ID = 538][Question Description = 129_78_CLR_SEP22_S52_Q29]

1. Jayashankar Prasad, Bhartendu Harishchandra, Badal Sircar
SRISIDR PRI, HRdog 8l3%ig, dIGel JIDPR
[Option ID = 2149]

2. Bhartendu Harishchandra, Badal Sircar, Jayashankar Prasad
RcIog 8RUG, dIGel IRDR, SRISID YRAIG
[Option ID = 2150]

3. Bhartendu Harishchandra, Jayashankar Prasad, Badal Sircar
9Rcog 3G, SRINMR YRIIG, dIGel IRDPR
[Option ID = 2151]

4. Badal Sircar, Jayashankar Prasad, Bhartendu Harishchandra
TIGCT AP, SRID2 YRIIG, HRIog B3

[Option ID = 2152]

20) Which of the following literary forms in Indian languages evolved in response to the European colonial contact?



HIReRI HI13il 51 foretferlae 3 A wlot i faen FRIUR siiuforafdre Auw & wrur ol g¢ ?

[Question ID = 539][Question Description = 130_78_CLR_SEP22_S52_Q30]
1. Epic
FHBIDIRT
[Option ID = 2153]
2. Short story
g AT
[Option ID = 2154]
3. Lyric
sfiferpren

[Option ID = 2155]
4. Folktales
T~ SRS

[Option ID = 2156]

21) Match List | with List Il

List | List Il

A. Gestalt I. Martin Buber

B. Reification|ll. Hannah Arendt

C. Plurality |lll. Theodore Adorno
D. Dialogue |[IV. Karl Jaspers
Choose the correct answer from the options given below:

et -1 1 3 -l A AT Bifdre :

o -1 et Il
IA. eI fer |. nféet ISR

B. axqa=ur Il. o018 35T
C.Rifafere IIl. Rrisr w3t
D. viars/aeiumerst IV. wref et

off<l fou o1e frapeul 3 21 138l = gferu :

[Question ID = 540][Question Description = 131_78_CLR_SEP22_S2_Q31]
A-IV,B-1l,C-1,D-Ill [Option ID = 2157]

A-IV,B-lll,C-Il,D-l[Option ID = 2158]

A-ll, B-1,C-1IV,D-Ill [Option ID = 2159]

A-ll,B-l,C-IV,D- Il [Option ID = 2160]

A w N =

22) From whose teachings is Anekantvad derived ?
fortferfiae 3f A fpordl fAr81131l 3 SreldiadIC =Yool g3l & ?

[Question ID = 541][Question Description = 132_78_CLR_SEP22_S2_Q32]
1. Gautama Buddha
Sliad g5

[Option ID = 2161]
2. Vardhamana Mahavira
qefarrel sardiz

[Option ID = 2162]
3. Shankaracharya
9IDIAARE

[Option ID = 2163]
4. Ramanuja
2AHIRIST

[Option ID = 2164]

23) Who among the following are known as theorists of memory ?
A. Pierre Nora
B. Julia Kristeva

C. Paul Ricoeur



D. Guy Debord

Choose the correct answer from the options given below:

Ffer B Rigiaer @ wu I forafeRaa 3 2 fop Siren sirar & ?
A. R st

B. siférn Rpzéiar

C. die Radir

D. sifar 3@

offax o s1e frepeul 3i 21 A1t 392 ol :

[Question ID = 542][Question Description = 133_78_CLR_SEP22_S52_Q33]
1. Aand D only
@act A sz D

[Option ID = 2165]
2. BandConly
@dct B siiz C

[Option ID = 2166]
3. BandDonly
@act B iz D

[Option ID = 2167]
4. Aand Conly
et A 3iz C

[Option ID = 2168]

24) On which of these works is Patanjali's Mahabhashya a commentary ?
forgaiferiRaa Gferil 3 2 fRpehl &bt udsifer o1 "Aenm=r' 3 ?

[Question ID = 543][Question Description = 134_78_CLR_SEP22_S2_Q34]
1. Ashtadhyayi
JrecTerRet

[Option ID = 2169]
2. Arthashastra

3reforre

[Option ID = 2170]
3. Natyashastra

OIICRIONRT]

[Option ID = 2171]
4. Kamasutra

DI

[Option ID = 2172]

25) What is the difference between katha and akhyayika ?

‘eI Td RGNRIDI & 7 a=1 A B & ?

[Question ID = 544][Question Description = 135_78_CLR_SEP22_S2_Q35]
1. They are written in prose and verse, respectively.
q 9L 3Tl Ud B 3 [oR SN &

[Option ID = 2173]
2. They depict hasya rasa and karuna rasa , respectively.
q G BT A Ud B3I R DI feIfefd waa &

[Option ID = 2174]
3. The content is kalpya (imagined) and prakhyat (already known), respectively.
Solchl fAtRT a3 AN DRI Bd JRRIIA &

[Option ID = 2175]
4. They are drsya kavya and sravya kavya, respectively.
q DAL €9 DIRI Bd YR DIRT Il 3



[Option ID = 2176]

26) Whose works among the following are found in the Guru Granth Sahib?
A. Kabir

B. Namdev

C. Andal

D. Amir Khusrau

Choose the correct answer from the options given below:

forgtferi¥aa 3 A oAbl e’ '31F sfe Afsd’ d uril Siedl & ?
A. odiz
B. smarca

C. sristar

D. 3pfe IRl
ofi feu a1u faweul A A A8l Iaz &I oRIaTl HIfSIU :

[Question ID = 545][Question Description = 136_78_CLR_SEP22_S2_Q36]
1. Aand B only

@act A siiz B

[Option ID = 2177]
2. Cand D only

@act C 3k D

[Option ID = 2178]
3. BandConly

dact B sz C

[Option ID = 2179]
4. Aand D only

Dact A siiz D
[Option ID = 2180]

27) Match List | with List Il

List | List Il

(Writer) (Literary Form )
IA. Mahadevi Akka l. gitika

B. Atukuri Molla Il. bhajan

C. Chandrabati Il. vacana

D. Mirabai IV. mahakavya

Choose the correct answer from the options given below:

et -1 1 3 -l A AT Bifde :

e -1 et Il
e RIS R
A. rEIedl raaT 1. sfiferet
B. srqassl dlcen Il srst01

C. cigacht 1. ereror

D. afteraré IV. @100

oflI f&u are frapeul 3 A 98l 3= gforw :

[Question ID = 546][Question Description = 137_78_CLR_SEP22_S52_Q37]
A-lll,B-IV,C-l,D-Il [Option ID = 2181]
A-1,B-lll, C-IV, D -l [Option ID = 2182]
A-IV,B-Il,C-l,D-lll[Option ID = 2183]
A-ll,B-IV,C-lll, D -I[Option ID = 2184]

A WN -



28) With which of the following theorists do you associate the idea of planetarite ?
A. Rene Wellek

B. Rene Etiemble

C. Gayatri Spivak

D. Paul Guyard

Choose the correct answer from the options given below:

"teloterse @ frar A s fogeifeilRaa Rigiaerl ¥ 2 fop2l Jdfta Ao 3 ?
A. 33 dea

B. oI ufewsaer

C. smrreft Buars

D. diet 3RS
offax e 31w fraeul 3t 31 78t 302 ol :

[Question ID = 547][Question Description = 138_78_CLR_SEP22_S2_Q38]
1. Aand D only
Dact A siiz D

[Option ID = 2185]
2. BandConly

Dact B sz C

[Option ID = 2186]
3. Aand Conly

Dact A siiz C

[Option ID = 2187]
4. Band D only

dact B siiz D

[Option ID = 2188]

29) Which of the State of the Discipline reports describes comparative literature as "anxiogenic" ?
3eI9IRTel /g Adell yferdaoll 3 A dlol AT gelolicd® AT D1 "CRRRIS o’ @& U 3 HArorar 3 ?

[Question ID = 548][Question Description = 139_78_CLR_SEP22_S52_Q39]
1. The Saussy Report

2Afebt yferdger

[Option ID = 2189]
2. The Greene Report

affor gferdgor

[Option ID = 2190]
3. The Bernheimer Report
TolaTsa gferdcor
[Option ID = 2191]
4. The Levin Report
aifder yferdgor

[Option ID = 2192]

30) Who is the author of Strangers to Ourselves ?
‘Fort ¢ smaicad’ @ ca® forerfclRaa 3 A Blar 3 ?

[Question ID = 549][Question Description = 140_78_CLR_SEP22_S2_Q40]
1. Julia Kristeva

offera fapzctar

[Option ID = 2193]
2. Luce Irigaray

1 P8R

[Option ID = 2194]
3. Jacques Ranciere



St foRr

[Option ID = 2195]
4. Simone de Beauvoir
fiedol & dizar

[Option ID = 2196]

31) Which of the following concepts are used by Paul Ricoeur to describe translation ?
A. distanciation

B. face to face encounter

C. paradigm for alterity

D. domestication

Choose the correct answer from the options given below:

3I6IdIG 1 auiel el @ fere dicl Radsr foeifeiRaa 3 fRpol Fidpcusinsil 1 giler wd & ?
A. f33foargret

B. gilogat georact

C. arstsd Bk 3icef¥ (uf¥adefizar 3q excia yfersu)

D. spétazur

ofia fou a1e faraeul 3 21 1t 392 9ol :

[Question ID = 550][Question Description = 141_78_CLR_SEP22_S2_Q41]
1. Aand D only
Dact A 3iiz D

[Option ID = 2197]
2. Aabd Conly
@act A siiz C

[Option ID = 2198]
3. Band Conly
@act B sie C

[Option ID = 2199]
4. Band D only
@act B ik D

[Option ID = 2200]

32) Match List | with List I

List | List Il
Book/Theory proposed /Author/Thinker

IA. esemplastic imagination |I. Walter Benjamin
B. allegory 1. John Keats

C. dissociation of sensibility Il. T.S.Eliot

D. negative capability IV. S. T. Coleridge

Choose the correct answer from the options given below:

et - 1 et -l A ke i ;

Rredt -1 et -l
gdae/gzarfaa Rigia e forara
IA. SAECCIReD FHISIOI9IGT |. arce: Sostfdter
B. wereiist 1. Sifor dicaa

C. fnRugrer sifw ARIfAfET Il. &easfere
D. forifea dufaferéd IV. va.&l.iefs

ofia fRu s1e famcul 3 A 218l 3a= gfore :

[Question ID = 551][Question Description = 142_78_CLR_SEP22_S2_Q42]
1. A-lll,B-l,C-IV, D -l [Option ID = 2201]
2. A-IV,B-lI,C-ll,D-1lll [Option ID = 2202]



IV, B-I,C-lll, D -ll [Option ID = 2203]
I, B-Il,C-IV, D -l [Option ID = 2204]

3. A
4. A
33) Place the following thinkers in chronological order
A. Jean Paul Sartre

B. Friedrich Neitzsche

C. Martin Heidegger

D. Jacques Derrida

Choose the correct answer from the options given below

forgaiferRaa fRrar®! &) BIaGHIRIR RMaf¥erd HIfse

A. i dier =i
B. G sfraoitedr

C. qufdot 3357

D. Sta=r 3fver

ofiax fou a1e farapeul 3 21 AR IURETD IAT BT RI6T HIfSTT :

[Question ID = 552][Question Description = 143_78_CLR_SEP22_S2_Q43]
. A, B, C, D [Option ID = 2205]
. B, C, A, D [Option ID = 2206]
D, C, A, B [Option ID = 2207]
. A, D, C, B [Option ID = 2208]

A W N -

34) Given below are two statements
Statement I: The philosophy of presence is proposed by Derrida.
Statement II: The "horizon" is a concept in the thinking of Gadamer.

In light of the above statements, choose the correct answer from the options given below

ofi< 51 Peret G s 3 :

wera - | : 3uf¥erfer w1 golor Sf¥et IRt yfcraifsa fop=mm srm &

@l - |l : 'fifesr’ 31sIr @ Rider o1 iacuo &

IuRfep werol & el 3 PreiRiRaa Riascal 3 3 21dl 3as o :

[Question ID = 553][Question Description = 144_78_CLR_SEP22_S2_Q44]

1. Both Statement | and Statement Il are true
@erot | 3l || Sl 218t &

[Option ID = 2209]
2. Both Statement | and Statement Il are false
werat | 3z |1 Sloil atere &

[Option ID = 2210]
3. Statement | is true but Statement Il is false
el | AT & , fpog el || s1erd &

[Option ID = 2211]
4. Statement | is false but Statement Il is true
el | 3RIc &, fboqg et || a8l &

[Option ID = 2212]

35) Match List | with List II

List | List Il

(Narrative) (Narrator)

IA. Mahabharat |. Parrot

B. Tutinama Il. Kaakbhushundi
C. Alyf Layla wa Layla 11l. Sauti

D. Ramcharitmanas IV. Scheherazade



Choose the correct answer from the options given below:

et -1 1 3t -l A AT Bifdre :

Rredt -1 rredt -1l
BTG SIRSRATID At
A, HBTHRA I. 91p (dtem)
B. qefiomen 1. TPyl
C. aiferw Sfer ar cierr 111 et

D. Iratidarea IV. Az

ofia fou are famcul 3 A 218l 3a= gfore :

[Question ID = 554][Question Description = 145_78_CLR_SEP22_S2_Q45]
. A-IV,B-l,C-ll,D-lll [Option ID = 2213]
. A-1ll,B-l,CIV-,D-Il [Option ID = 2214]
. A-ll,B-lll, C-l,D-IV[Option ID = 2215]
. A-l,B-ll,C-IV, D-lll [Option ID = 2216]

A W N -

36) Who wrote Amuktamalyada?

"SPPAIRIIG D oD forgorferlaa 3 3 ®dle & ?

[Question ID = 555][Question Description = 146_78_CLR_SEP22_S2_Q46]
1. Krishnadeva Raya
DI WA
[Option ID = 2217]
2. Haider Ali
22 areft
[Option ID = 2218]
3. Ballala Sena
goeliel Aol

[Option ID = 2219]
4. Rajendra Chola
IStog, dlet

[Option ID = 2220]

37) Which deity does Salabega address in his songs ?

AT o 31l 3fidl 3 a1 Saar o) e fopen 3 ?

[Question ID = 556][Question Description = 147_78_CLR_SEP22_S2_Q47]
1. Shiva

fora

[Option ID = 2221]
2. Parvati

urdeft

[Option ID = 2222]
3. Lingeswara
feoraz

[Option ID = 2223]
4. Jagannath
SIsloolrel

[Option ID = 2224]

38) Match List | with List Il

List | List Il

(literary form) (description)

IA. marsiya |. a long poem in a fixed metre

B. tazkhira Il. collection of the works of a poet
C. masnavi Ill. poem of mourning




D. diwan IV. poet's biography
Choose the correct answer from the options given below:

et -1 1 3 -l A AR Bifde :

e -| et -l
pfdfeam wu fereraur

A. aifsfer |. foreret 55 oY Tt R

B. arotfer II. Ro=ft ofx 6 it o1 2o
C. arrorctt 1. oires-eprear

D. dtaret IV. @ & saoft

offa f3u a1e faaseul 3 2 w8 Iaz gfere :

[Question ID = 557][Question Description = 148_78_CLR_SEP22_S2_Q48]
A-IV,B-ll,C-l,D-lll[Option ID = 2225]
A-lll,B-1V,C-1,D-Il [Option ID = 2226]
A-Il,B-l, C-1V, D -lll [Option ID = 2227]
A-1l,B-1,C-lll,D-IV[Option ID = 2228]

A W N -

39) Which of the following is a Sufi premakhyan ?
forgotferRae 3 A @lor AT bl YRR & ?

[Question ID = 558][Question Description = 149_78_CLR_SEP22_S52_Q49]
1. Sohrab Rustom
e H3AA

[Option ID = 2229]
2. Prithviraj Raso
yediarst IRl

[Option ID = 2230]
3. Chandayan
doRIel

[Option ID = 2231]
4. Kadambari

DG

[Option ID = 2232]

40) Match List | with List Il

List | List Il

(Genre) ( Writer)

IA. premakhyan I. Firdausi

B. masnavi Il. Mirza Ghalib

C. ghazal Ill. Rahim

D. doha IV. Malik Muhammad Jaysi

Choose the correct answer from the options given below:

gl -1 @ 3 -1l A Fgarfera Hifsre ¢

oxet -| oxet -1l

Oict oRAD

A. Y@IRSITeT |. fiacizit

B. srtordt 1. Rt snfera

C. 3rsTcT . <&

D. dla1 IV. sifers Jewic SIRRA

oifa feu aru faasedl 3 A A8 3R gforu :

[Question ID = 559][Question Description = 150_78_CLR_SEP22_S2_Q50]
1. A-IV,B-l,C-ll,D-ll

[Option ID = 2233]



2. A-ll,B-IV,C-l,D-l

[Option ID = 2234]
3. A, B-Il,C-IV,D-l

[Option ID = 2235]
4. A-1,B-IV,C-Il,D-Ill

[Option ID = 2236]

41) Given below are two statements
Statement I: The idea of reification was introduced into literary theory by Lukacs.
Statement II: It was used to explain commodity fetishism by the Frankfurt School philosophers.

In light of the above statements, choose the correct answer from the options given below

offax <1 werel fGu sre 3 :

D - | : difdfear RBigia d arqom2v1 o1 Rar o SR 3R e SR e

Dol - || : 33rDT GRAPI Bow IRl B croffordl GIRT avqg yfermier "itp o1 IR w2ol @ e e sri en
SWRITD el B el 3 FrotfeiRad Riacul 3 A A8l 3az gt :

[Question ID = 560][Question Description = 151_78_CLR_SEP22_S2_Q51]
1. Both Statement | and Statement Il are true
ool | 3R || el 35t &

[Option ID = 2237]
2. Both Statement | and Statement Il are false
werat | 3z |1 Sloil arere &

[Option ID = 2238]
3. Statement | is true but Statement Il is false
el | 3T & , fepog el || s1eida &

[Option ID = 2239]
4. Statement | is false but Statement Il is true
el | 3RI &, fpog et || adl &

[Option ID = 2240]

42) In which state of India are Temsula Ao's stories located ?

HRA @ b1 15w 3 Igen 3ra & warforit fepre & ?

[Question ID = 561][Question Description = 152_78_CLR_SEP22_S2_Q52]
1. Manipur
Afvigz

[Option ID = 2241]
2. Mizoram
i

[Option ID = 2242]
3. Nagaland
GIPIICIUS

[Option ID = 2243]
4. Assam
3R—IA

[Option ID = 2244]

43) Arrange the following writers in chronological order
A. Mirza Ghalib

B. Ahmad Faraz

C. Allama Igbal

D. Nazrul Islam

Choose the correct answer from the options given below



forgotferRad cRa®Y B BITRAIGIRAR Faiderd bifse :
A. Braif anfera

B. 31531 Baret

C. srcaIraI sodrd

D. sfstesct s¥ca

ofi 3w s1e fracul 3t 3 At 3@= gol :

[Question ID = 562][Question Description = 153_78_CLR_SEP22_S2_Q53]
. A, C, B, D [Option ID = 2245]
. B, A, D, C [Option ID = 2246]
. A, C, D, B [Option ID = 2247]
D, A, B, C [Option ID = 2248]

A w N =

44) Arrange the following works in chronological order
A. Umrao Jaan Ada

B. Durgeshnandini

C. Yamuna Paryatan

D. Indulekha

Choose the correct answer from the options given below

fogstfeiRad gzl o) BreragAIoIR Raf¥erd HIfse :
A. 331314 SIIet 3161

B. gateretfocoil

C. ol wRicet

D. sogerar

ofia 3w a1e frascul 3 2 ) 3@= 9ol :

[Question ID = 563][Question Description = 154_78_CLR_SEP22_S2_Q54]
. C, B, D, A [Option ID = 2249]
. D, C, B, A [Option ID = 2250]
. A, C, B, D [Option ID = 2251]
D, B, C, A [Option ID = 2252]

A w N =

45) With which of the following thinkers would you associate the idea of the "enigma of art" ?
‘@etr 1 IpgIfer’ (eforean 3w ané) & foram A Adfa forarferRaa a3 A smu pA AEIAE ?

[Question ID = 564][Question Description = 155_78_CLR_SEP22_S2_Q55]
1. Maurice Merleau-Ponty
A Farct-aict

[Option ID = 2253]
2. Theodor Adorno
RIS srstoit

[Option ID = 2254]
3. Susan Sontag
ol AloCal

[Option ID = 2255]
4. Jose Ortega y Gasset
Sl SiIdaIr ars 3l

[Option ID = 2256]

46) Which of the following concepts were formulated by Jacques Ranciere ?
A. partition of the sensible

B. pure language



C. chiasm
D. aesthetic regime

Choose the correct answer from the options given below:

forraiferRaa wler-211 sraemumnaii ol Siazt oA GRI Ygass v sr ?

A. 3ider o1 faersier

B. 91g smur

C. sacfR1

D. zilocdfuras ormeror-yurrcht (esRefas fsfia)

o R o1e Rreseul 3t 3 31dt 3oz got :

[Question ID = 565][Question Description = 156_78_CLR_SEP22_S2_Q56]

1. Aand D only
Dact A siiz D

[Option ID = 2257]
2. BandConly
Dact B sz C

[Option ID = 2258]
3. Dand Conly
@qet D 3z C

[Option ID = 2259]
4. Band D only
@qct B siiz D

[Option ID = 2260]

47) Match List | with List Il

List | List Il

(Concept) (Thinker)

IA. ideological state apparatus |l. Gaston Bachelard
B. poetics of space Il.Tzvetan Todorov
C. the fantastic Ill. Roman Jakobson
D. conative function of language|lV. Louis Althusser

Choose the correct answer from the options given below:

It -l Y g -1l 21 Fafera Hifdie :

foreht -1 et -1l

bragmzom frare (Riawo)
A. srsf3aciforpe e vtRea . 3reret Aaems
B. diufeas sife 01 Il. w5t dicla
C. ¢ Bocil3cd Ill. 61 SipeRTat
D. wlaifea wavre 3ife dodst IV. g siceRR

ofiI f& arQ frapeul 3 A 38l 3o gfore :

[Question ID = 566][Question Description = 157_78_CLR_SEP22_S2_Q57]
. A-ll,B-lll,C-IV, D-I[Option ID = 2261]
. A-IV,B-ll, C-I, D -l [Option ID = 2262]
. A-lll,B-Il,C-IV, D -I[Option ID = 2263]
. A-1IV,B-l,C-ll,D-lll [Option ID = 2264]

AW N =

48) By whom is the play Une Tempete written ?
Yol eodic oltAD offced fepol forzar & ?

[Question ID = 567][Question Description = 158_78_CLR_SEP22_S2_Q58]
1. Jean Jacques Rousseau

eIt Slerat 2l

[Option ID = 2265]
2. St John Perse



3le Sifel wi

[Option ID = 2266]
3. Aime Cesaire
Vot 2fiere

[Option ID = 2267]
4. Edouard Glissant
uSI33rE Berdic

[Option ID = 2268]

49) Which of the following describe the cultural policies used by colonial European powers in Africa ?
A. assimilado

B. assimilation

C. indirect rule

D. divide and rule

Choose the correct answer from the options given below:

3wYepT 3 aforafdre IRIURI oIfepl $IRT YITh Blol arcil Airafere oiferil @ forarferRaa 3 2 wia auia wzar s ?
A. srrcarara(siRafdensi)

B. sreararcamor

C. 3geael 91RIo

D. sicl 3iiz It DA

offa 3w s1e fareeul 3 2 18 372 ol :

[Question ID = 568][Question Description = 159_78_CLR_SEP22_S2_Q59]
1. Aand D only
dact A 3z D

[Option ID = 2269]
2. BandConly
@act B sie C

[Option ID = 2270]
3. Cand D only
@act C iz D

[Option ID = 2271]
4. Aand Conly
@act A siiz C

[Option ID = 2272]

50) Arrange the following works in chronological order
A. Dashrath Jataka

B. Paum Chariu

C. Ramcharitmanas

D. Ramayana

Choose the correct answer from the options given below

foreifeiRaa ieril Bl BIerpAAR Go1 A sraf¥era bifse ?
A. gore SIa®

B. usa af¥s

C. wrafsadoert

D. I@mRIor



il fou a1e fraseul 9 3 W& 3= goi ¢

[Question ID = 569][Question Description = 160_78_CLR_SEP22_S2_Q60]

1. A,D, B, C

[Option ID = 2273]
2. C,D,B,A

[Option ID = 2274]
3. D,A, B, C

[Option ID = 2275]
4. C,D, A, B

[Option ID = 2276]

51) Which of the following films are adaptations from Premchand’s fiction?
A. Parineeta

B. Oka Oori Katha

C. Heera Moti

D. Char Adhyay

Choose the correct answer from the options given below:

forraifeiRaa wler-21l fsedt Qurcic & wer-Af3ca o1 Fulear (ucawen) & ?
A. ufvoftar

B. 3ito1 3113t e

C. & airct

D. T srearx

ofia 3 a1e faraseul 3 A A 3a= BT wRIeT HIfdIE

[Question ID = 570][Question Description = 161_78_CLR_SEP22_S2_Q61]
1. Aand Conly
Dact A siiz C

[Option ID = 2277]
2. Band Conly
et B siiz C

[Option ID = 2278]
3. Cand D only
@qet C 3k D

[Option ID = 2279]
4. Band D only
@act B sik D

[Option ID = 2280]

52) For which of the following theorists writing literary history was a central concern?

foriferi3aa 3 A fopa1 Rigiamr o1 Aldicam siier1 coel vd #3cA fawrr ar ?

[Question ID = 571][Question Description = 162_78_CLR_SEP22_S2_Q62]
1. Hans Robert Jauss

&3 Iad Sita

[Option ID = 2281]
2. Jacques Derrida

Stz Sfyar

[Option ID = 2282]
3. Valentin Voloshinov
Jcifeor dreiofioifa

[Option ID = 2283]



4. Martin Heidegger
HIfol BISSOR

[Option ID = 2284]

53) Which theme is common to the following texts?
Alexandre Dumas, The Count of Monte Cristo.

Emily Bronte, Wuthering Heights.

Agatha Christie, Murder in the Orient Express.

Jeffrey Archer, A Prisoner of Birth.

RrgoifeiRaa ofrl 3 @ Rre Blo-an Rioe (ftar) adfors 3 ?
SICITSIIS SATH, T DT 3iE A Rzt

efdredl gie, gAt¥eT srsca

e fipFdl, #1$2 5ol § 3Nf¥ue Tyt

S} airclz, @ Rystor sifw aef

[Question ID = 572][Question Description = 163_78_CLR_SEP22_S2_Q63]
1. War.
g6

[Option ID = 2285]
2. Alienation.
o

[Option ID = 2286]
3. Coming of Age.
31 T dGoll (BT Sl Bor)

[Option ID = 2287]
4. Revenge.

yferoner
[Option ID = 2288]

54) Given below are two statements
Statement I: The theme of partition has been a major one in contemporary Indian fiction.
Statement II: Rashid Jahan was a principal forerunner of this tendency in the 1930s.

In light of the above statements, choose the most appropriate answer from the options given below

off< 1 Berel fRu s 3 :

et - | 1 FaAmIcher sl wen-anfdca 3 fnirstor v ygpa foremr w81 3

@l - Il : 21fdrg 518t 1930 B cord i 531 ygfel D v 3o spled A

IuRfes Weroil & el 3 ProiRiRaa Riascal 3 3 21 3as o :

[Question ID = 573][Question Description = 164_78_CLR_SEP22_S2_Q64]

1. Both Statement | and Statement Il are correct
@erat | 32 || Seil 218t &

[Option ID = 2289]
2. Both Statement | and Statement Il are incorrect
werol | 3z |1 Sloil atere &

[Option ID = 2290]
3. Statement | is correct but Statement Il is incorrect
el | AT & , fepog el || sterd &

[Option ID = 2291]
4. Statement | is incorrect but Statement Il is correct
el | 3RIc &, fpog et || ad &

[Option ID = 2292]



55) Who among the following have adapted classical Greek drama ?
A. Mohan Rakesh

B. Girish Karnad

C. Shambhu Mitra

D.Wole Soyinka

Choose the correct answer from the options given below:

forgotferiRaa 3 A fp2rol aendhl otrofl silcas @1 Fwuiarur (adaptation) s 3 ?
A. #Hizel JADA

B. RBrstor woifs

C. iy fire

D. aYa ARiwr

ofia 3w a1e faracul 3t 21 1t 3@= 9ol :

[Question ID = 574][Question Description = 165_78_CLR_SEP22_S2_Q65]

1. Aand B only
Dact A iz B

[Option ID = 2293]
2. Aand D only
@dact A 3k D

[Option ID = 2294]
3. Band Conly
et B 3iiz C

[Option ID = 2295]
4. Cand D only
@act C 3k D

[Option ID = 2296]
56) Arrange the followng novels in the order of their first publication:
A. Indulekha
B. Durgeshnandini
C. Mirat-ul-Uroos
D. Karan Ghelo

Choose the correct answer from the options given below

forgotferRaa SucarRl @1 o1 Uscll AR YdI9iel & Ba & caaiderd bifsre
A. sogoRar

B. galoraifocsit

D. ®rur gt

offa fou s1u fRyeseul 3 2 & 3= goi ¢

[Question ID = 575][Question Description = 166_78_CLR_SEP22_S2_Q66]

1. B,D,C, A

[Option ID = 2297]
2. A C,B,D

[Option ID = 2298]
3. B,ACD



[Option ID = 2299]
4. A,B,C,D

[Option ID = 2300]

57) Who among the following had discussed Comparative Literature in terms of World Literature?
A. Hugo Meltzl.

B. Haun Saussy.
C. Charles Bernheimer.
D. Rabindranath Tagore.

Choose the correct answer from the options given below:

R anféc B Fooaf 3 qeTolTcAw Afdc I i Preotferae 3 3 Rowrel e e ?
A. 53l diccsa

B. gfor are2ft

C. arcaf woforsar

D. dicgotrer ol
il feu are ferapeul 3 3 3l 302 ol :

[Question ID = 576][Question Description = 167_78_CLR_SEP22_S2_Q67]
1. Cand D only
Dact C 3z D

[Option ID = 2301]
2. Aand B only
Dact A iz B

[Option ID = 2302]
3. Aand D only
et A 3sik D

[Option ID = 2303]
4. Band Conly
Dact B sz C

[Option ID = 2304]

58) Who, among the following, has adapted a tale from the Kathasaritsagar?

forarfciRae 3t 2 P20l BARIIPR o1 el B1 sislier e & ?

[Question ID = 577][Question Description = 168_78_CLR_SEP22_S2_Q68]

1. Thomas Mann
Sl HIool
[Option ID = 2305]

2. Johann Wolfgang von Goethe
Sii@lool AICWSIieT dTol Siwer
[Option ID = 2306]

3. Gunter Grass
Y2 A
[Option ID = 2307]

4. Nayantara Sahgal
SRIGIART AT

[Option ID = 2308]

59) Who, among the following, spoke of weltliteratur as an alternative that was preferable to National Literature?
forgsiferi¥aa 31 31 b0l Acefere¥er oI v ey @ U 3 ook fopan 3 sl b sl fder 3q sifepie o ?

[Question ID = 578][Question Description = 169_78_CLR_SEP22_S2_Q69]
1. Francois-René, vicomte de Chateaubriand
DDA a diee § AfBY



[Option ID = 2309]
2. Gotthold Ephraim Lessing
sieell sWsaAARpI

[Option ID = 2310]
3. Voltaire
AR

[Option ID = 2311]
4. Johann Wolfgang von Goethe
SiiaTool dIcWalisl dlol Jiuel

[Option ID = 2312]

60) Whose stories among the following writers have been adapted as graphic narratives?
A. Rajinder Singh Bedi

B. Intezar Hussein

C. Saadat Hasan Manto

D. Krishan Chander

Choose the correct answer from the options given below:

forraiferRaa crawml 3 3 fepAd! waIfoRIl B e ARRATGH @B WU 3 Fdlb1R (3isfier) e sk 3 ?
A. fSicz Riz 3

B. saeiR gat

C. J31r6e 36l HA

D. morat dge

i R o1e Rrascal 3 3 21t 3oz gl :

[Question ID = 579][Question Description = 170_78_CLR_SEP22_S2_Q70]
1. A, and D only
Dact A 3iiz D

[Option ID = 2313]
2. Band Conly
@qct B 3iiz C

[Option ID = 2314]
3. Aand B only
@dact A 3l B

[Option ID = 2315]
4. Cand D only
@act C iz D

[Option ID = 2316]

61) In British literary history, in what sequence do these texts appear?
A. Chretien de Troyes, Perceval.

B. Anthony Munday, The Downfall of Robert, Earl of Huntingdon.

C. Geoffrey Chaucer, Canterbury Tales.

D. Venerable Bede, Ecclesiastical History of the English People.

Choose the correct answer from the options given below

farf¢or Jf3feara sferart # sotdl A b siolmd A A6 DieRIF Yoridrd gs ?
A. B &vors ¢RI, ulfaa

B. Genell 43, g SEorwId 3iiw A, 3rct 3ifw sfeercor

C. sapdahr, dcadl eea



D. doRad a3, v aalelcomd R sifw ¢ Baor diua
il fou s1e fyaseul 9 A W& 3= goi ¢

[Question ID = 580][Question Description = 171_78_CLR_SEP22_S2_Q71]
1. A,B,C,D

[Option ID = 2317]
2. D,AC,B

[Option ID = 2318]
3. B,D,A,C

[Option ID = 2319]
4.D,C, B, A

[Option ID = 2320]
62) In what chronological order were the following languages included in Schedule VIII of the Indian Constitution?
A. Konkani.
B. Santali.
C. Punjabi.
D. Sindhi.

Choose the correct answer from the options given below

R Jifderct o1 sroRyedl VI 3 onfdrer 51 orRfl forwotferRad sraisli 1 wIciiolayd TRl a1 ?
A. wiovft

B. Jemeft

C. dorret

D. Rroeht

offa fou s1e fareeul 3 21 A1t 372 gol :

[Question ID = 581][Question Description = 172_78_CLR_SEP22_S2_Q72]
. A, B, C, D [Option ID = 2321]
. C, D, A, B [Option ID = 2322]
B, A, D, C [Option ID = 2323]
. A, D, B, C [Option ID = 2324]

AW N -

63) Match List | with List Il

List | List Il
Book /Author
IA. Against World Literature |. Pascale Casanova

B. The World Republic of Letters|ll. David Damrosch

C. An Ecology of World Literaturellll. Emily Apter

D. What Is World Literature? |IV. Alexander Beecroft
Choose the correct answer from the options given below:

et -1 1 3 -l A AR Bifde :

et - ozt Il
gD cRa®

A. 3pize acs Ricyae I ursaer wrTal
B. g acs Rufecm sifw cicad 1. 3fers saRa

C. uot sXcisit aifw acs Ricyaz 1. sRicft ez

D. coIc 3ot dc Ric¥az IV. srdrastse diapree

offa) fou ar1e faseul 3 2 A8 3= gfore :

[Question ID = 582][Question Description = 173_78_CLR_SEP22_S2_Q73]
1. A-ll,B-1ll,C-IV, D -1[Option ID = 2325]
2. A-1I,B-l,C-1V,D- Il [Option ID = 2326]



3. A-IV,B-Il, C-lll, D- | [Option ID = 2327]
4. A-1,B-IV,C-Il, D - Il [Option ID = 2328]

64) Who, among the following, first raised the question of modernity in the poetry of Bharatendu Harishchandra?
forgsiferf¥aa 31 31 b0l Rdog sl¥eiog o1 wferar 3 snefforpar @1 ysst uscll ar IorR ?

[Question ID = 583][Question Description = 174_78_CLR_SEP22_S2_Q74]
1. Ramchandra Shukla.

AWITAG, YTt

[Option ID = 2329]
2. Gajanan Madhav Muktibodh.

SSIolol ATerd Ffepalel

[Option ID = 2330]
3. Namvar Singh.
olaR RBig

[Option ID = 2331]
4. Sudhir Chandra.
el dog;

[Option ID = 2332]

65) Who among the following considered reception an area of major concern?
A. Stuart Hall.

B. Rene Wellek.

C. Dionyz Durisin.

D. Wolfgang Iser.

Choose the correct answer from the options given below:

forgaiferf¥aa 3t 31 Rp2rol sifdEeuT (RRIvers!) @t dw forerr wxarsm ?
A. 3g3ré a1
B. 301 dcarm

C. f3aiforst gyfeRtor
D. dIcwerior $30
offax o are fraseul 3t 31 13t 302 ol :

[Question ID = 584][Question Description = 175_78_CLR_SEP22_S2_Q75]
1. A, and D only.
Dact A siiz D

[Option ID = 2333]
2. Band D only.
Dact B siz D

[Option ID = 2334]
3. Cand D only.
dact C 3z D

[Option ID = 2335]
4. Aand B only.
et A 3l B

[Option ID = 2336]

66) In what sequence were the following films adaptations from the Mahabharata produced?
A. Peter Brook, Mahabharata

B. Shyam Benegal, Kalyug

C. Usha Ganesh Raja, Pandavas: The Five Warriors

D. Rituparno Ghosh, Chitrangada: The Crowning Wish

Choose the correct answer from the options given below



FBBIRA A AdfA /Uil (ucwmansil) R foifdfa ferefclRaa fiocal o1 sioraa a=r o ?
A. die: g, ABIRAG

B. 9ma1 Soleret, werger

C. 3uI 31019 IUSIT, UIUSdISI: G WBIsd arf¥Ri

D. f¥quuil gy, Riqicrer: ¢ wpsfoist faer

offa fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 585][Question Description = 176_78_CLR_SEP22_S2_Q76]

1. C,A, B, D

[Option ID = 2337]
2. A,B,C,D

[Option ID = 2338]
3. B,A C,D

[Option ID = 2339]
4. D,C, B, A

[Option ID = 2340]

67) Who among the following can be taken to be major figures in the 'French Hour in Comparative Literature'?
A. Fritz Strich.

B. Paul Van Tieghem.

C. Fernand Baldensperger.

D. Marcel Proust.

Choose the correct answer from the options given below:

"B IBIR sol dyfed feredar’ 3 forvarfeiRaa 3 21 fpet! yga iftbea Aol SiT I 3 ?
A. fiycst Rea

B. dicrare! crsda

C. wolfos AIEISAURR

D. sRfer g

il fou s1e fraseul 9 A & 3a= goi ¢

[Question ID = 586][Question Description = 177_78_CLR_SEP22_S2_Q77]
1. Band Conly

Dact B sz C

[Option ID = 2341]
2. Aand D only

Dact A iz D

[Option ID = 2342]
3. Cand D only

@act C sk D

[Option ID = 2343]
4. Aand B only

act A 3z B
[Option ID = 2344]

68) Who among the following was deeply influenced by Rabindranath Tagore?



forarferRaca 3 2 wlal Adlegoire SaR A dgd 3iferd Yoerfaa & ?

[Question ID = 587][Question Description = 178_78_CLR_SEP22_S2_Q78]
1. T. G. Sivasankaran.
ZLoft. fOrasiaze

[Option ID = 2345]
2. Faiz Ahmad Faiz.
BT 316G Bt

[Option ID = 2346]
3. Vaikom Muhammad Basheer.
ARIDIA HBI1G q9fly

[Option ID = 2347]
4. Lakshminath Bezbarua.
crgafiotrer dSTaB3I

[Option ID = 2348]

69) Who among the following played major roles in the reception of Shakespeare in India?
A. Sambandha Mudaliar.

B. Raja Rammohun Roy.

C. David Lester Richardson.

D. Mirza Daagh Dehlvi.

Choose the correct answer from the options given below:

forgoiferiae 3 3 b0l s1ree 3 AaRARRR @ axEvr A YFRa sxfdreT forams ?
A. ider geIferR

B. 311 RmEise 3

C. 3fas dzer Rasor

D. firsif gre1 SEeret

offa 3w s1e faraeul 3 2 A1t 372 gol :

[Question ID = 588][Question Description = 179_78_CLR_SEP22_S2_Q79]
. Aand B only.
dact A 3z B

1

[Option ID = 2349]
2. Aand Conly.
@act A siiz C

[Option ID = 2350]
3. AandD only.
@act A sz D

[Option ID = 2351]
4. Band D only.
@act B 3ik D

[Option ID = 2352]

70) Who among the following is a major contributor to the study of themes?

forerzil (efier) @ srerrel 3¢ fowatferfRac 3t 2 Bl vap-ygRa APIGIeiddl & ?

[Question ID = 589][Question Description = 180_78_CLR_SEP22_S2_Q80]
1. Elizabeth Frenzel.
ofersTaer Boolel

[Option ID = 2353]
2. Sisir Kumar Das.
{99 QAR grRI

[Option ID = 2354]
3. Erich Auerbach.



of¥ ReIdRa

[Option ID = 2355]
4. Yuri Tynyanov.
3t fecemeiia

[Option ID = 2356]

71) Which of the following terms captures correctly what is stated below?

The process by which literary works challenge and refresh our habitual perceptions of the world - and language itself.

forgatferiiaa 3t 3 Blor-AT U ol i e oY 78 Gt A enfea (Dar) wrar s ?
gz yfepzn ORRI mf3feas oferf fira vd simun Jdfea s forer eftcmlvil ot golldl $iiR oril 91tp Ygrel ¢l 3

[Question ID = 590][Question Description = 181_78_CLR_SEP22_S2_Q81]
. Archetype
ST
[Option ID = 2357]
2. Revisionism
JolieroldIc

1

[Option ID = 2358]
3. Defamiliarization
feRmTToRflas3ur

[Option ID = 2359]
4. Convention
DIRIRT

[Option ID = 2360]

72) Which two types of hypertextual relations were posited by Gerard Genette ?
A. Canonization

B. Imitation

C. Transformation

D. Evolution

Choose the correct answer from the options given below

SIS Slolg SR dTol 918 Jiferurdier Adel & sofdt A Dol A S YBR & ?
A. doretizsiorel (canonization)
B. sropapfer

C. wuidzur

D. sfgora
ofldl f2u a1g farascul 3t A TS SWITD 32 DI TRIol BIfSTU :

[Question ID = 591][Question Description = 182_78_CLR_SEP22_S2_Q82]
1. Aand B only
Dact A siiz B

[Option ID = 2361]
2. BandConly
Dact B sz C

[Option ID = 2362]
3. Cand D only
@qet C 3k D

[Option ID = 2363]
4. Aand D only
Dact A iz D

[Option ID = 2364]



73) Which of the following texts are narrated by dead narrators ?
A. Old Gringo

B. Pedro Paramo

C. House of the Spirits

D. Epitaph of a Small Winner

Choose the correct answer from the options given below:

forgoiferRad wlor-2ft grads g avicrmafsit g1 aftfa &1 srt 3 ?
A. 3iics Beait

B. 03 gz

C. &3 3ifw  Rufdca

D. uftrer sifw € Fdfer e

ofia 3w are farascul 3 21 ) 3@= 9ol :

[Question ID = 592][Question Description = 183_78_CLR_SEP22_S2_Q83]
1. Aand B only
Dact A siiz B

[Option ID = 2365]
2. BandConly
Dact B sz C

[Option ID = 2366]
3. Cand Aonly
et A 3iiz C

[Option ID = 2367]
4. Band D only
@dct B siiz D

[Option ID = 2368]

74) Which of the following descriptions are applicable for the ragamalas ?
A. A performance tradition of North India

B. Pictorial illustrations of the verse which invoke the mood of raga

C. An instance of sensibility inspired by the change of seasons

D. A lyric tradition

Choose the correct answer from the options given below

forgoiferlRae 31 A dlor-A fraRv1 PRI U= RIS 8ld & ?

A. 3= 9RdA D1 b gl uRuRl

B. 8¢ @1 Riqueaiad forcofor Sr13) fb 2101 o1 A6iIgoIT BT 3iTadrel BIdl 31
C. sp i@ gcaa A Yfa sirayavrar

D. uvo sfla wRuar

ofi fRu a1e faeal 3 A A8 Iaz BT WRIe BRI :

[Question ID = 593][Question Description = 184_78_CLR_SEP22_S2_Q84]
1. Band Conly
@dqct B siz C

[Option ID = 2369]
2. Cand A only
Dact A iz C

[Option ID = 2370]
3. Aand B only
Dact A iz B

[Option ID = 2371]



4. Band D only
@qct B siiz D

[Option ID = 2372]

75) Who among the following co-authored How to Read Donald Duck ?
A. Mario Vargas Llosa

B. Gabriel Garcia Marquez

C. Armand Mattelart

D. Ariel Dorfman

Choose the correct answer from the options given below

forgatferRac 3 2 fopol 813 ¢ 31S Slolics S @ Tl i As-cIdol fopar ?

A. ¥ ae1RT dRn

B. 3ifuar sufdfen st

C. 3R#AIs AR

D. et stwdiar

ofid feu are farpeul 3t A1 181 392 gol :

[Question ID = 594][Question Description = 185_78_CLR_SEP22_S2_Q85]

1. Band Conly
@act B sz C

[Option ID = 2373]
2. Aand B only

@ac A sz B

[Option ID = 2374]
3. Cand D only

@qet C 3z D

[Option ID = 2375]
4. D and A only

Dact A siiz D

[Option ID = 2376]

76) Which of the following draws intertextual reference from The Thousand and One Nights ?

forgoiferlRae 31 31 Dol ¢ ATISIS US ol ollEcA A HT:UISKI st 3)gu1 d2er & ?

[Question ID = 595][Question Description = 186_78_CLR_SEP22_S2_Q86]
1. Nimona
foratiom

[Option ID = 2377]
2. Watchman
aradiol

[Option ID = 2378]
3. Daytripper
3w

[Option ID = 2379]
4. Ramadan
ST

[Option ID = 2380]

77) Who among the following describes comparative study as a scientific enterprise focused on broad literary and social
movements?

forgotferRiae 3 3 Wlol GeTolcdrd 31e2RIT DI gad AMffea iR ARniie ygiwril ur Siga ve dsufore Ieer & a3 aviar w2d d ?



[Question ID = 596][Question Description = 187_78_CLR_SEP22_S2_Q87]
1. Johann Wolfgang von Goethe

Slislool dlcwolial diol sluel

[Option ID = 2381]
2. Hutcheson Macaulay Posnett

BRIol JpIcl URcolug

[Option ID = 2382]
3. Hugo Meltzl
8ol Fcesel

[Option ID = 2383]
4. Georg Brandes

SRifef i

[Option ID = 2384]

78) Which of the following states is strongly associated with the dance - drama, Yakshagana ?

forgotferiRae 3 A Blol-AT ASA FA-0lIcD AGPIIeT A AFAfea 3 ?

[Question ID = 597][Question Description = 188_78_CLR_SEP22_S2_Q88]
1. Andhra Pradesh
31iE] y&or

[Option ID = 2385]
2. Tamil Nadu
dfdretorrg,

[Option ID = 2386]
3. Karnataka
Dollcd

[Option ID = 2387]
4. Kerala
DT

[Option ID = 2388]

79) Which among the following films of Akira Kurosawa are adaptations of Shakespeare?
A. Throne of Blood

B. Ran

C. The Grudge

D. Late Spring

Choose the correct answer from the options given below:

3rcblT pR1Tar 1 forroifeiRad wlor-211 fiscdl IaaftrR &t wuwaz 3 ?
A. fiot 3iiE 15

B. a1

C.go

D. dc Ryar

offa féu a1e frapcul 3 21 A3l IAR BT wRIe DIt :

[Question ID = 598][Question Description = 189_78_CLR_SEP22_S2_Q89]
1. Aand B only
Dact A siiz B

[Option ID = 2389]
2. Cand D only
Dact C 3z D

[Option ID = 2390]
3. Aand D only
et A 3sik D



[Option ID = 2391]
4. Band C only
@ddct B siiz C

[Option ID = 2392]

80) Which term was used by Andre Lefevere to describe how a writer's work gains exposure and achieves influence mainly
through "misunderstandings and misconceptions" ?

"D fpl dza® o1 i Yoraol (TaaisR) gra @3l 3 317 FIRIRI d1cid a3id bl A3t 3R PBrearenonsii A Aswd uKdl 3" s31d aviel 3q 31leg, ABA?
&I forgonifand fipaT ug a1 Su=ier fosar s e ?

[Question ID = 599][Question Description = 190_78_CLR_SEP22_S2_Q90]
1. Reflections
it

[Option ID = 2393]
2. Refractions
3ol

[Option ID = 2394]
3. Mirroring

yferffaor

[Option ID = 2395]
4. Misreading

3ICIUIG (1973

[Option ID = 2396]

81) With which culture will you associate the text, Popol Vuh ?

qferq g, dlulc gg Pl 31U $oldl A oA Avmiea A Ada war ?
[Question ID = 600][Question Description = 191_78_CLR_SEP22_S2_Q91]
1. the Mayan

=T

[Option ID = 2397]
2. Maori

3Nt

[Option ID = 2398]
3. theIncan

Sl

[Option ID = 2399]
4. Santali

deeft

[Option ID = 2400]

82) Which of the following plays is based on the character Kalidasa ?

forraiferRaa 3 2 Blel-AT olice BIfeTSRT ureg U= smenfsa & ?

[Question ID = 601][Question Description = 192_78_CLR_SEP22_S2_Q92]
1. Lahron ke rajhans

Tl D ASEA

[Option ID = 2401]
2. Kelu Janmejaya

D STolHRT

[Option ID = 2402]

3. Ashadh ka ek din
3IHI@ BT U a1

[Option ID = 2403]
4. Evam Indrajit
ud sogofta



[Option ID = 2404]

83) Which of the following refer to a romantic strain in different Indian bhasha literatures ?
A. Navodaya

B. Pragatisheela Age

C. Jonaki Yug

D. Nai Kavita

Choose the correct answer from the options given below

farfdroot sTRediR siToT AT 31 FacSearardt SIRIRT (¥o1) A foratferi¥aa 3 A dlol Adfera &
A. oraica

B. gaiferofiet ot

C. SlieIrebl a1

D. orft wfaar

ofia 3w s1e faravcul 3 2 ) 3@= ol :

[Question ID = 602][Question Description = 193_78_CLR_SEP22_S2_Q93]
1. Aand B only
Dact A siiz B

[Option ID = 2405]
2. BandConly
Dact B sz C

[Option ID = 2406]
3. Cand D only
@qcet C 3k D

[Option ID = 2407]
4. Aand Conly
Dact A siiz C

[Option ID = 2408]

84) Who among the following are associated with Comparative Literature in Russia ?
A. Dumitru Chioaru

B. Paul Cornea

C. Alexander Veselovsky

D. Viktor Zhirmunsky

Choose the correct answer from the options given below

forgsiferi3ae 3 31 Dol A A D dclollca® Aldca A Adfera & ?
A. 5f3rqg RS

B. difet wifofen

C. srciasis? R Dbt

D. feracs stiairdt

il feu are frapeul 3 3 8l 302 ol :

[Question ID = 603][Question Description = 194_78_CLR_SEP22_S52_Q94]
1. Aand C only
Dact A siiz C

[Option ID = 2409]
2. BandD only
Dact B sfiz D

[Option ID = 2410]
3. Cand D only



@act C sik D

[Option ID = 2411]
4. Aand B only
Dact A iz B

[Option ID = 2412]

85) Who among the following are associated with the sabuja juga in Odia literature ?
A. Annada Shankar Ray

B. Kalindi Charan Panigrahi

C. Nilakantha Das

D. Godabarish Misra

Choose the correct options given below

forgatferRaa 3 2 Plet NS A3 3 AgST o1 A Hdfera 3 ?
A. 31I6Ig 9Id? IRT

B. o1feredt Trur uIfosét

C. ofierws g1

D. shicrarfyer fireg

oA R s1e Riecdl # A & a2 goi ¢

[Question ID = 604][Question Description = 195_78_CLR_SEP22_S2_Q95]
1. Aand B only

Dac A iz B

[Option ID = 2413]
2. Cand D only

@qct C 3z D

[Option ID = 2414]
3. BandDonly

@act B sk D

[Option ID = 2415]
4. Aand D only

Dact A 3iiz D

[Option ID = 2416]

86) Who among the following are associated with Dalit women's writing in India?
A. Bama

B. Urmila Pawar

C. M.K. Indira

D. Ambai

fototferfiae 3t A wiol e 3 fcra AfEemsii @ ol A Hdlkia & ?
A. qran

B. 3fdferr uar

C. a3

D. sparé

offa fou s1e fareeul 3t 2 A1t 392 gol :



[Question ID = 605][Question Description = 196_78_CLR_SEP22_S2_Q96]
1. Aand D only
Dact A 3z D

[Option ID = 2417]
2. BandConly
@act B sie C

[Option ID = 2418]
3. Cand D only
@act C iz D

[Option ID = 2419]
4. Aand B only
@act A stk B

[Option ID = 2420]

87) Who among the following coined the term "distant reading” ?

forraiferRaa 3 21 feprol "f33¢e Af3a1" ue w1 Jstol fopam ?

[Question ID = 606][Question Description = 197_78_CLR_SEP22_S2_Q97]
1. David Damrosch
3fars sertor

[Option ID = 2421]
2. Erich Auerbach
of¥a sifd®

[Option ID = 2422]
3. Edward Said
Usas A

[Option ID = 2423]
4. Franco Moretti
BT

[Option ID = 2424]

88) Which of the following works deal with the questions put by a king to a disciple of Buddha ?
A. Milindapanho

B. Buddhacarita

C. Saundarananda

D. Samannaphala Sutta

Choose the correct answer from the options given below

forgotferRRaa 3 3 wlat A 3ja gg D Orsr A Rt e B FRI fPU 918 yeot A Adfia g ?
A. fiifticuser

B. ggafea

C. Hic3retog

D. mreerber

il f&u a1e ferapeul 3 3 3El 302 ol :

[Question ID = 607][Question Description = 198_78_CLR_SEP22_S2_Q98]
1. Aand B only
dact A siiz B

[Option ID = 2425]
2. BandConly
@Dact B sz C

[Option ID = 2426]
3. Aand Conly
Dact A 3 C



[Option ID = 2427]
4. Band D only
@act B iz D

[Option ID = 2428]

89) Who among the following reinterpreted Savitri story in modern Indian Literature ?
A. K.P. Khadilkar

B. Gangadhar Meher

C. Nabaneeta Dev Sen

D. Sri Aurobindo

Chosse the correct answer from the following

snegforas s anfdc 3t AR Ba1olt @) BreoeiRaa 3 3 Rt ysicakenfia Roar 3 ?
A. &.dl.=feera:

B. siomer: 33

C. crefier 3a Aot

D. 9ff srfdcar

i R o1e Rieseul 3 3 31dt 3a2 got :

[Question ID = 608][Question Description = 199_78_CLR_SEP22_S2_Q99]
1. Aand Conly
Dact A siiz C

[Option ID = 2429]
2. BandD only
Dact B siiz D

[Option ID = 2430]
3. Aand D only
Dact A iz D

[Option ID = 2431]
4. Band Conly
@qct B 3iiz C

[Option ID = 2432]

90) Given below are two statements.

Statement I: The cultural history of nineteenth - century India has been presented as a conflict between the social
reformers and the tradionalists.

Statement Il: The social reformers were preoccupied with the interests of women and the lower castes.

In light of the above statements, choose the most appropriate answer from the options given below.

ofil &1 erer Ru are 3 :

@Yol - | : 19 dl ordredt @ HRA D ARDITD BRI Bl ATHIRID JURDI AR WRWRIAIRI & #T IHad & WU A gIdd oo sk 3
D - || : st Fare Afdarnsil oz ore suferll & Ral @ gfer Rifera

SWRfT Bl @ sirclie 3 forerfeiRaa freseul 3 A &l 3= gt ¢

[Question ID = 609][Question Description = 200_78_CLR_SEP22_S2_Q100]
1. Both Statement | and Statement Il are correct.

@eral | 32 || Sl 38t &

[Option ID = 2433]
2. Both Statement | and Statement Il are incorrect.

@l | 3R || Slall sreta &



[Option ID = 2434]
3. Statement | is correct but Statement Il is incorrect.

el | e 8, fpog et | stera &

[Option ID = 2435]
4. Statement | is incorrect but Statement Il is correct.

el | 3RIca &, fbog et || 8l &
[Option ID = 2436]

Topic:- GP_UGCNET_20SEPT22_SH2_S2_PartA

1) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Population of City (in Lakhs)

Year p Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forgoiferRaa aiferat ad 2014 1 2020 aw @ 1 auf 3 diol 9821 P, Q 3k R o siorizn (cra ) corfelt 8 a1 anferdt @ smem= iR
st uid gesil @ IR SifSe

91531 b ad-ar SrerRiTRT

o 9182 bl SRR (cIrd 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

What is the approximate average population of City-P for all the given years?

3ft fu 1w auf @ forg 9183 - P a1 crersia1 3iiad SToldc o=l 8 ?

[Question ID = 10860][Question Description = 101_00_GP4_SEP22_S2_QO01]
1. 65 Lakhs
65 cma

[Option ID = 13437]
2. 59 Lakhs
59 ara

[Option ID = 13438]
3. 52 Lakhs
52 ara

[Option ID = 13439]
4. 54 Lakhs
54 ara



[Option ID = 13440]

2) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Year Population of City (in Lakhs)
P Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forrarferRaa anferet ad 2014 21 2020 awm o Ard adf 3 et 9sd P, Q 3k R &l siorizn (ara #) corfdl 3 531 anféret & sne: uz
JFEfeia uia gesit @ IR SifSe

91531 bl ad-ar SierRizET

o 9183 I SoRiz=  (cIRd 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

What is the ratio of the total population of City-P for the years 2014, 2015 and 2016 together to the total population of City-R for
the years 2018, 2019 and 2020 together?

adf 2018, 2019 siiz 2020 @1 Brelrd? 9182~ R &1 ayet Sloriz=n @ gl ad 2014, 2015 3iiz 2016 @ fére 9182- P &1 @l SlolRizRIl @1 3iofuld oI 3 ?

[Question ID = 10861][Question Description = 102_00_GP4_SEP22_S2_Q02]
1. 31: 54 [Option ID = 13441]
2. 29 : 53 [Option ID = 13442]
3. 27 : 53 [Option ID = 13443]
4. 29 : 54 [Option ID = 13444]

3) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Population of City (in Lakhs)
Year P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90




2020 80 75 100 |

forgotferRaa aiferat ad 2014 21 2020 awm @ A1 auf 3 ol 91821 P, Q 3k R I Storiz=n (cira ) corfedl 8 31 aiferdr @ snemR R
JFdfeia uia gesit @ IR Sifsre

91531 bl ad-ar SrerRizRT

o 9182 I SoRiz=N  (ciRd 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

What is the percentage rise in population of City-R from the year 2016 to 20177

ad 2016 o1 qgetotr 3 2017 3 9183~ R 51 Storize=n 3 giy yferord a=m & ?

[Question ID = 10862][Question Description = 103_00_GP4_SEP22_S2_QO03]
1. 8.34 % [Option ID = 13445]

2. 10.00 % [Option ID = 13446]

3. 16.67 % [Option ID = 13447]

4. 21.45 % [Option ID = 13448]

4) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Population of City (in Lakhs)

Year P Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forearferRaa anferet ad 2014 1 2020 aw @ Ard auf 3 it 90 P, Q 3R R &l siorizen (ara #) gorfdt 3 531 anféret & sne: uz
JFEfeia uia gesit @ IR Sifse

91531 &bl ad-ar SrerRizRT

o 9182 bl SoRiz= (cird 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100




What is the difference in the total population of City-R and the total population of City-Q for all seven years?

19l 11 aulf @ o 9182~ R 51 @ StolRiz 3R 9163 Q @1 el SIoRIFRI 1 3R @11 8 ?

[Question ID = 10863][Question Description = 104_00_GP4_SEP22_S2_Q04]
1. 130 Lakhs
130 ema

[Option ID = 13449]
2. 80 Lakhs
80 ema

[Option ID = 13450]
3. 110 Lakhs
110 ema

[Option ID = 13451]
4. 85 Lakhs
85 ema

[Option ID = 13452]

5) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Population of City (in Lakhs)

Year P Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forraiferRaa anferet ad 2014 1 2020 aw & Ard adf 3 et 9820 P, Q 3k R &t siorizen (ara #) gorfdt 3 531 anferet & sne: uz
JFEfera uia gestt @ IR i

9153 &l ad-ar SierRizRT

o 9182 I SoRiz=N  (cird 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

For which city and in which year, the percent rise in population from the previous year was the highest?

fepa1 o187 3z fepa ad 3 Slorizean d giy (yferora) foresal ad &1 qeton 3 Faiferm off ?

[Question ID = 10864][Question Description = 105_00_GP4_SEP22_S2_QO05]
1. City-Q and year - 2016
9i83-Q 3iiz ad-2016

[Option ID = 13453]
2. City-P and year - 2018



9182-P 3z adf-2018

[Option ID = 13454]
3. City-R and year - 2016
9z3-R 3i? ad-2016

[Option ID = 13455]
4. City-P and year - 2020
9B2-P 3z af-2020

[Option ID = 13456]

Topic:- GP_UGCNET_20SEPT22_SH2_S2_PartB

1) Which of the following phrases best describes blended learning?

forgoiferlRaa 3t A dla ara=iier R fren &1 Id9es aviet w=ar s ?

[Question ID = 10865][Question Description = 106_00_GP4_SEP22_S2_QO06]
1. It involves two teachers teaching the class
S G 3IEATUD GIRI el 3 e Joir onfier 2

[Option ID = 13457]
2. It involves online interactions only through LMS
391 Dact LMS @ are=iat 3 sifoletisol sioeiloer fopR onfdiet &

[Option ID = 13458]
3. It combines elements of face-to-face and online / ICT tools for teaching-learning
g {O18I0T-3IfeeEI @ fore WA ¢ WA 3iiR sifoletsel /31S 2 & ¢e @ Ardl @l fretre 8

[Option ID = 13459]
4. It involves older students teaching younger students through a mentoring approach
S PRIol BIG1 GRI amedl zfiedlr D gRI 6w BIG DI Uelel onfdret 3

[Option ID = 13460]

2) For effective integration of ICT in teaching-learning, the following should be used for providing online content,
assessments, and for seamless virtual interaction of teachers with learners.

forgor - sif2era 3 3 Mt & @ yYaurdl Dol D fer, forarfeiRaa w1 IuRNeT sifslesol forer - AR Jcidot Sot A el Yraddl @& AT eAaD a1 forafer
rciicafpRn @ fere fepan Siron afdu

[Question ID = 10866][Question Description = 107_00_GP4_SEP22_S2_QO07]
1. WhatsApp

TBICIATT

[Option ID = 13461]
2. Content Management System

faeT- O] yderol Ugher

[Option ID = 13462]
3. Learning Management System
3ifeere yderol Ugfer

[Option ID = 13463]
4. Facebook

BAYD
[Option ID = 13464]

3) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Open Educational Resources (OERSs) are available for free.

Reason R: The basic philosophy behind OERs is to provide freely accessible, openly licensed text and media to all, that are
useful for teaching and learning.

In light of the above statements, choose the most appropriate answer from the options given below

off 31 perel fRu e 3 1 uas bl sifdrperet (A) 3R g @ BRI (R) a1 sk &

sifdrperat (A) : I ifdr Fizmerst (OERS) for:91ca Suctets 3



@Rl (R) : OERs & Wi gemsya Rrgia sl o) for:9Jcas 7 A o1, Fel Al UR s Y UIGRRIIEES 3R dif3r Suctser aprerr 3 it g siiz
siferera @ fere IuRieht 3
IWRfTh Berell B 3rell I forvatifdpa faraseal 3 ¥ 18l Ia= gol

[Question ID = 10867][Question Description = 108_00_GP4_SEP22_S2_Q08]
1. Both A and R are correct and R is the correct explanation of A
(A) 3z (R) clall 31t 2 3R (R), (A) &t 3 waren 3

[Option ID = 13465]
2. Both A and R are correct but R is NOT the correct explanation of A
(A) 3z (R) clell 31t & weog (R), (A) &t 38 wren ot 8

[Option ID = 13466]
3. Ais correct but R is not correct
(A) & 3 wog (R) 2 oidt 3

[Option ID = 13467]
4. Ais not correct but R is correct
(A) 1@t otel 8 weog (R) 2wt 8

[Option ID = 13468]

4) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: MOOCs are learner-centric courses.
Reason R: MOOCs can only be accessed by a learner in the presence of his/her teacher.

In light of the above statements, choose the most appropriate answer from the options given below

ofi< Y perel fRu sre 3 1 v bl sifdrperet (A) 3R g @ BRI (R) a1 sk &

sif3reperat (A) : MOOCs sirel Yraasdl S fea urgaga &

@RI (R) : MOOCs fep=fI sire1 yraasdl GIRI 3idel sreamaa ot Juferfer 3 &l sifiere 8l Jmdr 3
IWRITh el B Il 3 forotifpe fracul 3 3 A8l 3a= gl :

[Question ID = 10868][Question Description = 109_00_GP4_SEP22_S2_QO09]
1. Both A and R are correct and R is the correct explanation of A
(A) siz (R) coif 2@t &3l (R), (A) bt 2t wmeeen 3

[Option ID = 13469]
2. Both A and R are correct but R is NOT the correct explanation of A
(A) stz (R) cloil 31t 8 udog (R), (A) & 3 wimeen o8t 8

[Option ID = 13470]
3. Ais correct but R is not correct
(A) &t 8 wog (R) &t o1l 8

[Option ID = 13471]
4. Ais not correct but R is correct
(A) 1@ ol 3 weog (R) 2@t 8

[Option ID = 13472]

5) By which of the following means can a teacher establish a good rapport with his/her students?
forFotferR3aa 31 A1 P ATeIeT A FEATUD UG BIGI A ICOT el FUA B2 ADI & ?

[Question ID = 10869][Question Description = 110_00_GP4_SEP22_S2_Q10]
1. Showing authority in class
D8l 3 YieroR

[Option ID = 13473]
2. Impressing students by his/her knowledge and skill
3IUol 1ol 3iR2 Wlorel GRI BTG DI Yfrd B2

[Option ID = 13474]
3. Playing the role of a guide/facilitator with a desire to help them
BIGI DY AGG D! DI 581 A wb ARiGeld/ Jewraatl bt sfdrt foremm:

[Option ID = 13475]
4. Becoming a friend to the students
Bl DI SR oD

[Option ID = 13476]



6) Which one of the following is not used for checking plagiarism?

forgarfciRae 3t A foparp1 SURIeT AMfEfead A3l Adbol B fore o1dl o= sirar & ?

[Question ID = 10870][Question Description = 111_00_GP4_SEP22_S2_Q11]
1. Turnitin
efaffeet

[Option ID = 13477]
2. Latex
CRTA

[Option ID = 13478]
3. iThenticate
sisdifedde

[Option ID = 13479]
4. Urkund
DS

=)

[Option ID = 13480]

7) Match List | with List Il

List | List Il

Ethical concepts in research Characteristics

IA. Deontological I. What makes people good

B. Teleological 1. Application of moral norms of society|
C. Relativist Theory Ill. Balancing social norms

D. Theory of Virtue IV. Rule based

Choose the correct answer from the options given below:

et -1 1 3 -l A AR Bifde :

aeht -l et -l

BiofRieIet 3 ofiferures sraermum fRrorercrd

IA. ofifer om=<y |. SiI clIoll DI 3BT Folldl

B. 3goadcid Il. J13I151 D oiferad AlGISST DI IURIIST
C. wmagrars RBrgia Ill. ArnfSIe AGICS] @I Aqgfera w2t
D. 3t Rrgiaa IV. forrar amrenfye

il f3u a1e faaseul 3 21 A8 3a= gfere :

[Question ID = 10871][Question Description = 112_00_GP4_SEP22_S2_Q12]
A-1,B-1l,C-1ll,D-1V[Option ID = 13481]
A-1l,B -1, C-1V,D-1[Option ID = 13482]
A-1ll,B-1V, C-1,D - Il [Option ID = 13483]
A-1V,B-1ll,C-1l,D-1[Option ID = 13484]

A W N -

8) Which of the following should be taken into account while preparing a questionnaire?
A. The purpose of research

B. Brevity of questions

C. Avoidance of leading questions

D. Questions that seek detailed information

E. Preference for double-barrelled questions

Choose the correct answer from the options given below:

forgaiferRaa 3t 2 o1 Yeolracil TRIR B JIRI £AT61 3 3T Sifel Al ?
A. 3G¥GEINGT BT 39

B. gesilt &t fdrmar

C. yapa geeil A aclon



D. yeot fStetdt fga eron &1 siroft 3
E. Ser gesil ol sif2rere=rarn Soit
il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 10872][Question Description = 113_00_GP4_SEP22_S2_Q13]
1. A, Band Conly

Dact A, B siiz C

[Option ID = 13485]
2. B, Cand D only

dact B, C sz D

[Option ID = 13486]
3. C,DandE only

@aa C, D siz E

[Option ID = 13487]
4. A, DandE only

et A, D sl E
[Option ID = 13488]

9) The quantitative research is based on

ATIHD 3Mofene b ur smenfya & ?

[Question ID = 10873][Question Description = 114_00_GP4_SEP22_S2_Q14]
1. Reductionism
siferRcfiasur

[Option ID = 13489]
2. Grounded theory

et Rigicr

[Option ID = 13490]
3. Field notes

81 ol

[Option ID = 13491]
4. Expansionism

fordararg

[Option ID = 13492]

10) When a research problem is related to heterogeneous population, the most suitable sampling method is:

[Question ID = 10874][Question Description = 115_00_GP4_SEP22_S2_Q15]
1. Cluster Sampling
qere? gferaRrot
[Option ID = 13493]
2. Stratified Sampling
Faf¥a yferariet
[Option ID = 13494]
3. Convenient Sampling

Jfersiold yferariol

[Option ID = 13495]
4. Lottery Method
cifedt fafér

[Option ID = 13496]

11) One of the barriers to reception in communication is



JHAIG-3JBVI 3 TP AIARNED 3 :

[Question ID = 10875][Question Description = 116_00_GP4_SEP22_S2_Q16]
1. Environmental stimulus
wRIfaviir 3ot

[Option ID = 13497]
2. Open mindedness
foram @ yfer getmot
[Option ID = 13498]
3. Message brevity
Jiger &t 2ifdrar

[Option ID = 13499]
4. Language orderliness
sl afdrasar

[Option ID = 13500]

12) Successful communication with students will promote which of the following factors?
A. Micro view of the world.

B. Social class struggle

C. Cognitive appreciation

D. Personality development

E. Cultural and aesthetic values

Choose the correct answer from the options given below:

Rrenf2fil @ rer Awer AFQuvI forrarferRaa 3t A1 Rpa e @I Qicenfda wear 8 ?
A. freq &Y g efte

B. smanfere asf e

C. JdAsirolicAd JBoIT

D. wafepca farar

E. Aizofer siiz ez gea

il R o1e Rieseul 3t 3 31ét 3oz got :

[Question ID = 10876][Question Description = 117_00_GP4_SEP22_S2_Q17]
1. A, BandConly
Dact A, B siiz C

[Option ID = 13501]
2. B, Cand D only
dact B, C iz D

[Option ID = 13502]
3. C,DandE only
Ddact C, D sl E

[Option ID = 13503]
4. A, Cand E only
Ddact A, C 3 E

[Option ID = 13504]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Organisational communication flows downwards, upwards and horizontally within its network of inter-dependent
relations.

Reason R : Organisational communication is not necessary to achieve the organisation's objectives.

In light of the above statements, choose the correct answer from the options given below

il Y perel fRu are 3 1 uas i sifdrperet (A) 3iiR g @1 BRI (R) @5a1 oRn &



aifdrperet (A) : IdTSelIcHdD AFYUI 3icR-forsfz el @B 3ruol olcad @ fiar ofid &1 3R, U= o1 3R qen Sifersiiz adld A yars war 3
@rRul (R) : AsToolcad AFYWUT AHsTool D cigzil bl gifts B R smaears o1t 3rar 3

Sutfen erell B arrcie 3 Rreiftoa Riacdl 3 3 318 saz gl :

[Question ID = 10877][Question Description = 118_00_GP4_SEP22_S2_Q18]

1. Both A and R are true and R is the correct explanation of A
(A) 3iz (R) clell 3t & 3R (R), (A) &I 18l carcen

[Option ID = 13505]
2. Both A and R are true but R is NOT the correct explanation of A
(A) 3fiz (R) cloll 31 8 woq (R), (A) &t 3t caren ofdl &

[Option ID = 13506]
3. Ais true but R is false
(A) 31 @ w¥oq (R) 3pic 8

[Option ID = 13507]
4. Ais false but R is true
(A) srIa @ w¥sq (R) 31 2

[Option ID = 13508]

14) According to Roland Barthes, the sequence of narrative codes is:
A. Action

B. Symbolic

C. Semantic

D. Enigma

E. Referential

Choose the correct answer from the options given below

AcKs a¥ia D IIGRIR ARRITGICHD Tl BT TH 3
A. arg

B. yddiwrcas

C. srf-fre=zrs

D. w1

E. Jcsfora

ofi fou are freseal 3 A 2 Ia= gol :

[Question ID = 10878][Question Description = 119_00_GP4_SEP22_S2_Q19]
. B, C, D, E, A[Option ID = 13509]

C, D, A, E, B [Option ID = 13510]
. D, E, B, A, C [Option ID = 13511]

A, C, D, E, B [Option ID = 13512]

A WN =

y = Yy

15) Match List | with List Il

List | List Il

Types of Communication Analysis Communication Factor|
IA. Control l. 'What' aspect

B. Content Il. ‘Channel’ aspect

C. Media 1. 'Reach’ aspect

D. Audience IV. 'Who' aspect

Choose the correct answer from the options given below:

et -l Y et -1l A Fafera Hifde :

It -l et -l

RIFUHUT @ fpcsuur & Yo RIFUYUT B BIRD
IA. foriqut l. ‘@’ usgy,

B. fasRarq Il. *Joret’ usey




C. afifdenr . ‘uge’ usg
D. gfierr IV. "stor’ uaey
oill f& arQ fraseul 3 A 98l 32 gfore :

[Question ID = 10879][Question Description = 120_00_GP4_SEP22_S2_Q20]
. A-lll,B-1IV,C-1,D-II[Option ID = 13513]
-1V, B-1,C-1l,D-lll [Option ID = 13514]
-1, B-1ll, C-1V, D - I [Option ID = 13515]
-1,B-1l,C-1ll, D - IV [Option ID = 13516]

AN
> > >

16) Find the wrong number in the series given below:

3, 8, 15, 24, 34, 48, 63,...

offar €t 51$ gjfaett 3t s1e1a e Farsy
3,8, 15, 24, 34, 48, 63

[Question ID = 10880][Question Description = 121_00_GP4_SEP22_S2_Q21]
34 [Option ID = 13517]
48 [Option ID = 13518]
24 [Option ID = 13519]
63 [Option ID = 13520]

A w N =

17) What is the average of all the prime numbers between 30 and 507?
30 3ii? 50 @ a1e=r Asfl IS HzoAI3ll 1 e =i 3 ?

[Question ID = 10881][Question Description = 122_00_GP4_SEP22_S2_Q22]

1. 38.8 [Option ID = 13521]
2. 37.8 [Option ID = 13522]
3. 39.8 [Option ID = 13523]
4. 39.5 [Option ID = 13524]

18) Eighteen years ago, a man was three times as old as his son. Now, the man is twice as old as his son. The sum of the
present ages of the man and his son is

18 o usa), v ftp 31Ul A¢ A ofiot ol asT &1 318fl, T& 31USI AL A Y Il AT & AP 3iI= IAD AT & aclHIol 3R B AP S ?

[Question ID = 10882][Question Description = 123_00_GP4_SEP22_S2_Q23]
1. 72 [Option ID = 13525]
2. 100 [Option ID = 13526]
3. 105 [Option ID = 13527]
4. 108 [Option ID = 13528]

19) Two boys A and B start at the same time to ride from Delhi to Meerut, 60 km away. A travels 4 km an hour slower than B.
When B reaches Meerut, he immediately turns back, meeting A, 12 km from Meerut. What is the speed of A in km/hr?

A 3iiz B 31 cisd b 81 31 feeett A 60 fepafl g3 A1 @ forg arqgn 9ps @w2d & B 1 sragm A 4 fepaft gfer e efiam acrar 3 s B divs ugd Siran 3 ds gid
arftRT cliear & 3 320 A 12 fpaft HI il R A A Brarar 3 A &1 aifer fepai / wer 3 fpaoft & ?

[Question ID = 10883][Question Description = 124_00_GP4_SEP22_S2_Q24]
12 [Option ID = 13529]

8 [Option ID = 13530]

. 6 [Option ID = 13531]

10 [Option ID = 13532]

A W N -

20) A television manufacturer earns 20% profit by selling each T.V. set for Rs 14,400. If the production cost is increased by
15%, what should be the new selling price of a T.V. set so as to gain a profit of 15%?

uep Cclifdrstat foratfar g é.dl3lc @t Rs14,400 3 dam: 20% vl Y dal & Al Ieurgel oerd 3 15% o1 gf Xl @ al 15% o1 et i @wal @ fere
uep &l e BT o frapRt e o= glont anfde ?

[Question ID = 10884][Question Description = 125_00_GP4_SEP22_S2_Q25]
15,870 [Option ID = 13533]
13,800 [Option ID = 13534]
12,000 [Option ID = 13535]
15,000 [Option ID = 13536]

A w N =



21) In Classical Square of Opposition, if * All S is P' is given as false, then which of the following could be immediately inferred
from it?

A.'No S is P' is true

B. 'Some S is not P' is false
C.'Some S is not P' is true
D.'No S is P' is undetermined
E.'Some S is P' is undetermined

Choose the correct answer from the options given below:

ferYen @ o aqyfst 3 "eft S, P 3" @l a1cra Aro ori 3 Al forgaiferiad 3 3 dcepIel RN SIGIATeT CIPIRIT ST ADAT 8 ?
'Ot S, Podl 3 aca 3

‘s S, Podl 3 s 3

‘g S, Pl aca s

o o0 w »

.'®r$ oft S, P ot &' aiforerifea 3
E.'so S, P & afererifya &
oif<l fu are frapeul 3t 3 18l 302 ol :

[Question ID = 10885][Question Description = 126_00_GP4_SEP22_S2_Q26]
1. A, Cand E only
@dact A,C 3k E

[Option ID = 13537]
2. C,DandEonly
@act C, D3R E

[Option ID = 13538]
3. B, DandE only
@act B, D sz E

[Option ID = 13539]
4. A, BandE only
@dact A, B 3k E

[Option ID = 13540]

22) Which of the following is a type of Fallacy of Relevance?
forsotferRacd 3t A =i AFAGAT B ADGY BI Ub YbRR 3 ?

[Question ID = 10886][Question Description = 127_00_GP4_SEP22_S2_Q27]
1. The Appeal to Force
TeTr 3ref I 3B

[Option ID = 13541]
2. The Argument from Ignorance
316l A dAD

[Option ID = 13542]
3. Complex Question
Sifeet geot

[Option ID = 13543]

4. Fallacy of Composition
3JfEeel DT AP
[Option ID = 13544]

23) a, b, c, d all have the attributes P and Q.

a, b, c all have the attribute R.

Therefore d probably has the attribute R.

Which of the following is true regarding the above argument?

A. It is a deductive argument.



B. It is an inductive argument.
C. It is an analogical argument.
D. It is a valid argument.

E. It is an invalid argument.

Choose the correct answer from the options given below:

a,b,c,dasfidisUiPaicr Q3

a, b, casfidisuiRE

aret: d 3 Hsraa: a1 R 3isg 3

SWRAIRD da> D e 3 Dol AT DAl AL 3 -
A. 316 U forRIecd® ad 3

B. 318 U SIBIAGICHD D &

C. Iz T ARIAHCTD ad &

D. w8 uep der aw 3

E. 318 v srder aw 8

offa fou s1e freseal 3 A 2d Ia= gol :

[Question ID = 10887][Question Description = 128_00_GP4_SEP22_S2_Q28]
1. Band Conly
Dact B sz C

[Option ID = 13545]
2. Aand D only
Dact A iz D

[Option ID = 13546]
3. Band D only
Dact B siiz D

[Option ID = 13547]
4. BandE only
@dqcet B3z E

[Option ID = 13548]
24) Which of the following is/are true regarding the relation between the middle and major terms according to Nyaya
philosophy?
A. It has to be a necessary relation.
B. It can be either necessary or contingent relation.
C. It can be causal relation.
D. It can be species-genus relation.
E. It can be member-class relation.

Choose the correct answer from the options given below:

RIRT G9loT-9II3¢] D 3MoLAR HER 313 = Ucl D ol FHder & an A forgoiferlad i 3 = 38 3 ?
A. 15 siforard Fder &

B. w15 &1 Al 3ra9As erdr acifid Fder 81 ABdar &

C. A6 DRUICHAD A 31 ADI

D. =15 sufer-dor der 81 Jwar 3

E. a1 Acz=a-aof Hder 81 Addr &

offa fou s1e freseal 3 A wd Ia= gol :

[Question ID = 10888][Question Description = 129_00_GP4_SEP22_S2_Q29]
1. B, D and E only



@dact B, D siz E

[Option ID = 13549]
2. B, C,DandE only
dac B, C, D3R E

[Option ID = 13550]
3. A, C,DandE only
daca A, C, D3R E

[Option ID = 13551]
4. A, Cand D only
dact A, C 3z D

[Option ID = 13552]

25) The argument 'Anamika must be elsewhere, since she is known to be alive and not to be seen at her house', is based on
which of the following means of knowledge (Pramana)?

s AD- "GIIIDT B3l 31T 3, =il as Siifra Jroft siedl 3 3iiz sruot a2 uz o1l St it 3' forsotfeiRaa 3t 21 e stro1 (ygmvT) uz smenfya 3 ?

[Question ID = 10889][Question Description = 130_00_GP4_SEP22_S2_Q30]
1. Postulation (Arthapatti)
srerfufer

[Option ID = 13553]
2. Non-Cognition (Unupalabdhi)
Sfojucifcer

[Option ID = 13554]
3. Comparison (Upamana)
Eerics

[Option ID = 13555]
4. Verbal Testimony (Sabda)
916G

[Option ID = 13556]

26) Which of the following peripheral devices are considered as only input devices?
A. Headphone

B. Optical Mark Reader (OMR)

C. Graphic Tablet

D. Light Pen

E. Projector

Choose the correct answer from the options given below:

forgatferiiaa uf¥efiRl Suw=uil 3 3 Bl A Bad solyc BFarEA D = 3 Sl A S ?
A. gswie

B. siiftcaser airas 52 (31 wat 31R)

C. aifibes Tadie

D. ase Uet

E. giciac:

offa o are freeul 3t 21 13t 3a= gol :

[Question ID = 10890][Question Description = 131_00_GP4_SEP22_S2_Q31]
1. B, Cand D only
@Dact B, C sfiz D

[Option ID = 13557]
2. B, CandE only
Ddact B, C ik E

[Option ID = 13558]
3. A, BandConly



daer A, B aiz C

[Option ID = 13559]
4. C,DandE only
@aa C, D siz E

[Option ID = 13560]

27) You wish to save the changed version of a document that was originally located on a standard CD-ROM. What is the best
method to accomplish this?

3y fop=fl srarpgic @ uf¥afela wu @1 A3 w2on ared & S et WU A ATeld Al S-¥MA A Read 31 gra ool o d9)es fafr = s ?

[Question ID = 10891][Question Description = 132_00_GP4_SEP22_S2_Q32]
1. Read the document from the CD-ROM, modify the document, then save it to the hard disk
3t St 31 3 STRpic UG, SIRPIC FUART B3 b2 33 a8 33D W JPAen o3

[Option ID = 13561]
2. Read the document from the CD-ROM, modify the document, then save it back to the CD-ROM
2t St 3o 3 S1aRpic U, SIaRpgic Fuiala o3 b2 531 2f St o w b 3 Fpfda o3

[Option ID = 13562]
3. Rename the document from the CD-ROM, read and modify the document, then save it to the hard drive
3t St 31 3 STRIGIC DI Yololld B2, SIREFIC DI U6 3R FUART B3 b2 31 318 33 w e o3

[Option ID = 13563]
4. Copy the document from the CD-ROM to the hard drive, read the document, modify it, and save it back to the CD-ROM
SIaRygic Dl 2 St a1 A a1 33 A yferferld soi, sravdic ug, 31 Fuidld @3 3l 33 b2 A 2 f 3a w e o3

[Option ID = 13564]

28) Given below are two statements

Statement I: 'Spam’ is an attempt to acquire sensitive information for malicious reasons, by masquerading as a trustworthy
entity.

Statement II: 'Phishing’ is a type of unsolicited bulk email of identical messages sent to numerous recipents.

In light of the above statements, choose the correct answer from the options given below

il Y werol feu a1 3 :

et - | 1 'TUH freaseli a1ca o1 99 Telr: gfacigul wRull 2 AdcaIofier 6l YI ol BT Ub YART &
@l - |l : "fBRisT 3riz yrawalsii ol fst 318 rnfrd v Sil Aol o1 &2 A $31c ®1 YR 3

SRfs wersll & e 3 BrroiRiRad Riascdl 3 3 18 3oz gai :

[Question ID = 10892][Question Description = 133_00_GP4_SEP22_S2_Q33]

1. Both Statement | and Statement Il are true
e | 32 || el T &

[Option ID = 13565]
2. Both Statement | and Statement Il are false
el | 3R || Srell srir &

[Option ID = 13566]
3. Statement | is true but Statement Il is false
el | AT & , fpog et |l srier 8

[Option ID = 13567]
4. Statement | is false but Statement Il is true
el | 3RII & , fpog el |l a1 8

[Option ID = 13568]

29) Regarding wearable technology, which of the following tasks is/are accomplished by wearable devices?
A. Providing more security compared to other computing devices

B. Sharing of a wearable device's Internet connection with other connected computers

C. Assisting hearing impaired persons

Choose the correct answer from the options given below:



ugstol :AIe Aol @ e 3 fogarfeiRaa 3t 3 wier 31 @RI ussIel As 3uwWIl I AuIed S 3 ?
A. 3163 DFRIfEST Uil o1 detoll 3 3fUD RS YaIel Dol

B. ugolol AIs1 3UDWII D $eolc Dold9lel DI 6 Helg DRI D AT AT Dol

C. oavmEifera =iafeb o5t dicg doll

ofia fou are frepeal 3 2 21dY 3= 9ol :

[Question ID = 10893][Question Description = 134_00_GP4_SEP22_S2_Q34]
1. Aand B only
Dact A iz B

[Option ID = 13569]
2. Bonly
Dact B

[Option ID = 13570]
3. BandConly
@qct B 3iiz C

[Option ID = 13571]
4. Conly
et C

[Option ID = 13572]

30) A software company requires ' GB RAM minimum and 2 GB RAM recommended' for its new Operating System (OS)
software. The likely outcome of attempting to install this OS on a computer with 1 GB RAM would be that

op JHfTedRR PUeil D1 31Ul o ifuRfest Rizedt (3l wal) Aiwed=zr @ fere "1 St <l 391 ogoreaa 3ii= 2 Sfi «ff 391 s1op9if¥1e’ &1 smaoa@mar 3 1 sit i 391 aral
BIRICI R A 3] TA B $3Mcl B0l D YART b1 Asifa ufdvme a6 sen e

[Question ID = 10894][Question Description = 135_00_GP4_SEP22_S2_Q35]
1. files will fail to save
WIscl JPRASKT 2ol I fawer 81 SRl

[Option ID = 13573]
2. peripheral devices will fail to work
uf¥efler U0 DRI Bl dG B2 ot

[Option ID = 13574]

3. the OS will fail to install and therefore the computer will not run
3i1. B et Blol A fAwet 2 Seal 3 A A DIRIC DRI o1l DI
[Option ID = 13575]

4. the computer will not run at its optimum performance
PRIC? 3ol S6cidl PRISHIA A DRI oIdf B

[Option ID = 13576]

31) Lifecycle assessment of a product is done keeping in mind mainly

fop=il Srurc @ Siiael T, BT D cIel FIRI: AT ATl 3 W D= fepar Siren 3 :

[Question ID = 10895][Question Description = 136_00_GP4_SEP22_S2_Q36]
1. Manufacturing

fafererfor (Foedaafia)

[Option ID = 13577]
2. Packaging

Tadfdier

[Option ID = 13578]
3. Disposal
foreareur (fS2uisier)

[Option ID = 13579]
4. Distribution
fererzor

[Option ID = 13580]



32) Stable atmospheric conditions help in

e arggisciln ufR-erferit ol Fer® 8 ?

[Question ID = 10896][Question Description = 137_00_GP4_SEP22_S2_Q37]
1. Accumulation of the air pollutants
AR YGUDI D JcRIol 3
[Option ID = 13581]
2. Dispersion of the air pollutants
AR Youdl @ feRrster 3
[Option ID = 13582]
3. Dispersion of the water pollutants
SieT Yguebl @ farstor 3
[Option ID = 13583]
4. Neutralisation of air pollutants
AR] YGUDI D foreysidet ot
[Option ID = 13584]

33) The contribution of energy efficiency enhancement measures could be significant in the realisation of the following
Sustainable Development Goals (SDGs):

Setl gere gl Suril @1 APIGe foEsIfeiRad Jrad T agAl (v St 5it) &1 qufiy 3 Iscaygui 81 awar 3

[Question ID = 10897][Question Description = 138_00_GP4_SEP22_S2_Q38]
. SDGs 7, 11, 12, 13
e tsht 7, 11, 12, 13

1

[Option ID = 13585]
2. SDGs 7, 11, 12, 14, 15
vadst 7, 11, 12, 14, 15
[Option ID = 13586]
3. SDGs 5, 7, 11, 13, 17
vadst 5, 7, 11, 13, 17

[Option ID = 13587]
4. SDGs 5, 12, 14, 17
va s 5, 12, 14, 17

[Option ID = 13588]

34) Which of the following pairs of countries conceived the idea of the International Solar Alliance?

Soll @ foraaferRRad Joar 3 A Rpol 3idR AR 1R sI6derel @ fiar o1 uf¥wcuaen o1 off ?

[Question ID = 10898][Question Description = 139_00_GP4_SEP22_S2_Q39]
1. India and USA
9113 3R Y 0 ©

[Option ID = 13589]
2. India and Australia

11T 3112 SR

[Option ID = 13590]
3. India and France
#3112 Wi

[Option ID = 13591]
4. India and China
#1312 ofter

[Option ID = 13592]

35) Solar Water Still is a device used to

i1z st Ree forgol 3 Qb A1 3 :

[Question ID = 10899][Question Description = 140_00_GP4_SEP22_S2_Q40]
1. Desalinate ocean water



PR Sict ferauitasur 3

[Option ID = 13593]
2. Heat the water
SicT Y a1t av2or It

[Option ID = 13594]

3. Remove microbes from water
et A Siiary seol 3
[Option ID = 13595]

4. Streamline the flowing water
& SIcl Dl JYYdIe! doltol It

[Option ID = 13596]

36) The white paper on Indian Education was announced a few days before the passing of the Indian Universities Act in
Rl 318 uR 2 uq &1 Atavn Rl fRreafdencrn siffrformer & wfya sl A oo ot gd et ad 3 &1 arf oft ?

[Question ID = 10900][Question Description = 141_00_GP4_SEP22_S2_Q41]
1904 [Option ID = 13597]
1914 [Option ID = 13598]
1924 [Option ID = 13599]
1944 [Option ID = 13600]

AW N -

37) Who among the following is accredited with the view that 'knowledge without character’ is a sin?
forgotferRae 31 A1 fep2ral 3 AR @1 yenRia fipen 3 e "afyq & foem sirer ura 3' ?

[Question ID = 10901][Question Description = 142_00_GP4_SEP22_S2_Q42]
1. Plato
wict
[Option ID = 13601]
2. Jawaharlal Nehru
SIA1E2 ¢l o163
[Option ID = 13602]
3. Sarvapalli Radhakrishnan
Jrduced! Jempwre
[Option ID = 13603]
4. Mahatma Gandhi
FHBTCAT Sifeft

[Option ID = 13604]

38) The acronym 'NHEQF' is for
‘gol v § a1 v’ uf¥avff fepaa fere 3 ?

[Question ID = 10902][Question Description = 143_00_GP4_SEP22_S2_Q43]
1. National Higher Education Quality Framework
Sl9I6Ic] 8RR Bojd9lel adIfeic! Baadm

[Option ID = 13605]
2. National Higher Education Qualification Framework
Gl9lolel 8RR Bejd9lol ddIfelftbadolel B HID

[Option ID = 13606]
3. National Higher Education Quantitative Framework
ol9lolel 8RR Bejd9lel adifecfea B aam

[Option ID = 13607]
4. National Higher Education Quality Forum
Sl9l6Ic] BRI Bofd9lol adiferct Wiza

[Option ID = 13608]
39) Identify the institution of National Importance among the following:

forratferRae 3 2 I AIsTa D ITeAro! Y UsdI B3 :-

[Question ID = 10903][Question Description = 144_00_GP4_SEP22_S2_Q44]
1. Banaras Hindu University



ToIRA fdog, frafdenerr

[Option ID = 13609]
2. Aligarh Muslim University
3ictiore ¥ fafdemcrr

[Option ID = 13610]
3. Jawaharlal Nehru University
SIA183 olicl ol faafdercrr

[Option ID = 13611]
4. Rashtriya Raksha University, Gandhinagar
Iecier et feafdencr, sifeft oler

[Option ID = 13612]

40) Ancient literary work such as Banabhatta's Kadambari described good education as knowledge of how many arts (Kalaas)?

qretiol A1f3feare a6 Skl b @iz o1 wIcasl 3 fbdoil werisii @ Sitel @) 3l 18 & U i R sRn & ?

[Question ID = 10904][Question Description = 145_00_GP4_SEP22_S2_Q45]
16 [Option ID = 13613]
. 25 [Option ID = 13614]
32 [Option ID = 13615]
64 [Option ID = 13616]

A wN =

Topic:- GP_UGCNET_20SEPT22_SH2_S2_PartC

1)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description ‘tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.

forgaifeiRaa sreror oI ug iz A€t gesll @ 3= difSo ©

YD AT of It B aul I Uil ITHT Al St & SADI TP ISIEV AYTD AT, D ABRIRIA A D PRIG ARIRA DI Adbol AHeell A D IPB
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The response for the UN appeal for contribution to fight the corona pandemic reflects its
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[Question ID = 10905][Question Description = 146_00_GP4_SEP22_S2_Q46]
1. Positive image

IADRIHD B

[Option ID = 13617]
2. Global reach

dffq uga

[Option ID = 13618]
3. Waning influence

Tedl garra

[Option ID = 13619]
4. Neutrality

daczeudr

[Option ID = 13620]

2)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description 'tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.
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What obstructs the United Nations from becoming a real global body?

AYTD A D T ardfddD df¥am fordRI dotel 3 a=ar aren 3 ?

[Question ID = 10906][Question Description = 147_00_GP4_SEP22_S2_Q47]
1. The power of Security Council to deploy military force

JRet ufdtg 6t o det bt Forredt 6t afep

[Option ID = 13621]
2. lIts limited power to impose economic sanctions

3t 3 yferder ol bt 2ifdie Ifep

[Option ID = 13622]
3. Considerable expansion as a huge organisation

farorret JioTIcer @ U 3 PII fAFdar

[Option ID = 13623]
4. The veto power of the permanent members of the Security Council

IR UldtG & FeUrRll AR @I dicl-aifiar
[Option ID = 13624]

3)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description ‘tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.
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The Security Council deadlocks are due to

eI ufeds 3 SICRIEN PI PRI 3 ©

[Question ID = 10907][Question Description = 148_00_GP4_SEP22_S2_Q48]
1. Lack of reforms in the UN power structure

IRYTD A, Pl It D B I JEIRT DI 3T
[Option ID = 13625]

2. Internal differences among member nations
AGI-Joll B dia siiale g

[Option ID = 13626]
3. The US stance against all others

218t sroa1 B Racme 3@ 2

[Option ID = 13627]
4. Global conflicts involving US, Russia and China

YD A 3P, 3 ud et A Adifer dfaa et
[Option ID = 13628]

4)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description 'tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.
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The outcome of power conflicts inside the UN is

YD g, A oIfep-dad o1 ufyvma 3 :

[Question ID = 10908][Question Description = 149_00_GP4_SEP22_S2_Q49]
1. Slow termination of wars

gl o1 elioft arfer 3 Jora Sloll

[Option ID = 13629]
2. Tepid response to SDGs

A [APRI cigll D yfer eflofl gferfepen

[Option ID = 13630]
3. No positive contribution for human welfare

HIoId BRI D T8 DI ABRITID ABIGTol olat

[Option ID = 13631]
4. Delayed aid to pandemic affected countries

BT A gAfAa Solf bY 3T A ABRIAT
[Option ID = 13632]

5)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description ‘tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.
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The UN's ambiguous stance on many global issues is because of

JAYeP g, BT AfPacs Pei D Yfer sruse 30 b drur A 3 ?

[Question ID = 10909][Question Description = 150_00_GP4_SEP22_S2_Q50]
1. Financial constraints

farefter srfdrera

[Option ID = 13633]
2. Rigid tenets in the UN charter

IRJTP A, A2 3 3iotoeT Rigled

[Option ID = 13634]
3. Multilateralism vs National Sovereignty

TEUBIRIATAIG IOl JACERT AFYRIAT

[Option ID = 13635]
4. Its seamless expansion

3epT forR fazar
[Option ID = 13636]






